MEEANSETAIDFEHEENESE

VIEIER B E
B FIE < RE B AE
FOM $500EOFE $1,000
frOz% $1,000(BE O#F $200
SO $500| 22Ol $200
BRO S $2,000|FEO$8 $200
TROZE $500[FR O3k $3,000
HOZE $1,200{250 $500
EOF $1,000FEO R $300
=OHE $200[5FOFH $500
FOM $1,000|20% $20,000
RO $5,000[FEO R $33,000
BRO%Z $1,000{ZFEOE $21,000
ZIOH $1,200[BEOE $21,000
EOH $100[ EOE $200
HOX $500[ FEO4% $200
HO§E $500[ EO&K $200
22OH $2,000| EO& $200
O $1,200|= O$4 $200
EOHT $300| = O $200
B O e $200| 5 Ok $200
HOFE $200[15O M $400
EO% $200[#R O $400
BROZE $200[5EOH $400
RO $100|125O#% $400
BFOFE $2,000|1Z2O $400
O $500|1ZBOZE $400
EHOF] $500[$EOF $400
BO% $1,000(BEO & $400
O $1,000({F O] $400
FEOH $1.200[fOF $400
O $1,0001#503% $400
O $100|220= $400
FEORE $1,500(ZIOHH $400
2= OB $1,500[gFOZEE $400
ZO% $1,000| EOHA $500
EO¥ $1,000({EH O $200
Z0L $200| 5 O1= $2,000
ZOFE $500 TO= $2,000
BROME $1,000[{O A $300
#O $500| 21Ok $200
—0O%+ $100[FEO= $100
2Ok $1,200[ FEO#H $1,000
EOSE $100[fF 1O $300
TOBg $1,000[5O%EE $1,000
A OB $1,000|#RO5= $200
M O% $300[ EOHE $300
OB $1,000{#FO 5 $100
SOk $1,200{8E O35 $200
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TO= $315|HOHE $200
T O $500[FEO¥ $100
TOWRAL $1,000|5:0O2 $100
BROZ $2,000[2£OF% $100
CAON $300|%= O $500
HOH $1,000{£5 Ot $200
HOZE $1,200)BROHE $500
ETOH $500[5O%E $100
FOHE $100[FROF $100
BROEE $5002£OFt $1,000
BROte $500[=OF $5.000
R BEAR N E] $3,000]BE O $1.000
FZO=E $1,000|#EO%f $500
#FORMH $800[=O4= $500
B OMHES $500|1FOFE $500
i OBE $1,200) T OZ% $100
H O $1,200[ T Of= $100
£Z0%B $200| T O $100
PROF $200| TOFE $100
TO¥NH $500[ZO1H $100
gO& $250| T O= $100
£ZOE, $1,000) T OFE $100
iE O $1,200) T O$# $100
TOE $1,000| 02 $100
sTOF $2,000)% O $250
PRORE $2,000|f OF = $300
E2ERE $3,900[#H O 45 $100
F Ot $300[AROFH $100
EORE $1,200| O $500
7 O B $10,000|# O $500
BROZ $500[50O $200
2IOF $800[#H O $300
EOZH $6,000) O $100
£0H $1,250| = O $500
BROTK $1,250|121O% $500
£0E $1,250| A O# $500
£0= $1,250| PO B $100
PO $2.000[FRO%k $1,000
HOHH $500[&k O $600
BROAE $1,000) & Ot $200
OS5 $1,000[t5OF5 $500
O $1,000|FH O $200
FRO2 $1,000[ALOH $100
HEOF $1.000TOZEEE $1,000
OB $500[FO= $1,000
Z Ol $1.000{5 O™ $2,000
O $100[ROF5 $400
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B Ol $200 | O $400
BO#HE $3.000);& OfF $400
PrOH $200[;EOTT $400
RO $200[E=OE $200
£Z0/% $200| RO AL $300
OB $200[BROTF $200
FOZE $200 BB O $500
HOZR $200 R O1& $1,000
O $200[=O %+ $100
A OFFI $200[;EO T3 $400
OB $200[FOEL $300
BO= $200[ZF O, $300
Z0= $200[ AR O $300
21O $200(2£O% $300
fTOBE $200[#FOFE $300
E=OH $5.000) Pk Ot $300
RO H 4 $1,500|1#FO17 $300
#OHEL $2,500|47O H $300
ROZE $3,200[#Of& $300
BOH $10,000|# Ot $300
= OB $150,000[Z£O %= $300
BO $1,000{#AO % $300
w= O $300[ZEO % $300
RO% $1.500|Z£ O $300
BO% $300[3O4= $300
O $300|# O $300
BO#H $300|EEO $300
£Z0Om $300[EE O $300
O $1,000|8E O E $300
OB $1,000|BHOZ $400
HO $5.000[Z£ O] $300
£0# $200[% O $300
HOZ $1,000[{#5OH $300
= O%F $2,000| 52 O%E $200
BIOF $1,000| B O $200
JIORE $500|%2OF $200
BOF $4.,000) B Ok $300
FOF $1,000[FROF7 $400
PO $1,000|#EO%z $300
HOBE $1,000{PE OB $400
POL $300[ = O%F $1,000
HOEL $50|122OB% $400
PO $50|12O%= $400
FOAED $500)FEOfE $300
RO $1,000[FEO & $400
FO%: $10,000|ftF OFi $500
=0 $500[HROLE $200
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RO $200[E= O $400
FIOR $500[tT OE% $400
TORE $115|m= O $400
ZOZE $100[FR O $500
BOE $2,500[{T O %k $400
ENOY/N $2,500|FHOF $200
=OH $2,000|HOE $1,000
HO $20,000{Z1OF5 $500
PROZE $10,000[ZFO= $100
et O EHF $20,000] & O $300
i O%F $10,000#HCO% $300
B R B AR () A TR $1,200|F O $200
HOE $10,000{BrO#& $1,000
LOZE $10,000|5O 5= $500
O $500[2£OF% $500
HOMR $100[HOZ $1,000
#O1la $100[21OF5 $600
H O $100[E= O $200
ZOM $100| £ OFE $1,000
£Z0OHE $100pTO% $1,000
RO $5.000)BO’& $500
RO $5,000[#OFAR $50
PO F $100[#FORd $50
PO $2,000| PO $50
FOH $2.015[M O $50
=0O% T $500[ 2O E: $350
FOR $300 O $520
OE $1,200{%=0O % $500
ROEE $300]964F /& e % BB AR 755 & $40,966
BROZAL $600|&£O EEREIZ $800
O $1,000{FRO#2 $100
RORE $1,200) B O % $100
21O $1,200|FF Ot $100
OB $1,000[ & O $600
EOF $1,200| R O% $100
#HO $5.000(HOE $2,000
=0O% T $500[FRO#h $100
=0 $1.200({FFOR $100
BROH $200| A OEAER) $100
Z= Ol $200[BROZ $100
BRO$ $200[FFOF $100
FROH $100[#5O 2 $200
FOH $100[=O= $400
EHOM $100[EROZK $200
wOZ $100[#FO%j $200
s OFE $100[#OF= $200
QiR $100[FHO=E $200
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FORKH $80,000[FH OB $200
BROBRR $300[t7 O $200
ROFE $600|FO%k $600
FO# $300[E O #: $200
HO4F $300[FEO= $200
O $30,000|#OF5 $100
BROZE $1,200)F Ok $100
RO $300|7EOIS $2,000
PR O Hi i $1.200[= O $2,015
RO $4,700| B OF $100
ZO% $100|2 O $1,000
O $300[z= O $100
MOE $300[BR O $100
BRO#E $500 R O $100
EOR $500| E£O $100
BHOMESE $500[FROJE $100
O $500[FR Ot $100
HOE $100[EFO% $100
HOE $600FF O $100
RO $100[ETO*E $100
RO $600[EFO f, $100
HORE $100[5TOE $100
HORE $600|F O $1,200
HOIR $100[FH OB $1.000
ZOR $600[FRO % $300
BROX $300[/HOH $2,015
£Z0% $200[EFO# $2,000
HOFIL $1.200)+O4= $115
BIOF $300[ZFOFK $100
BIO%E $300|5 Oz $100
BIOF $300[FEOZ $100
BROZE $100|FPO $100
PROEY $500[BR Oty $200
O $500[ O $200
HOR $1,000) 5 O£ $200
HO $500|ZF O $200
BHOm $300[F O $100
BPOZERd $3.000|F O $100
sTOFE $5,000[FO $800
BRO% $500[EOE $100
MHO= $1,200) R Ok $300
ROR, $2,000) = OHE $300
RORH $5.000)1#kO358 $2,000
210 $1,200|ZE O=F $1,000
RO $3.000[ZIOF $1,000
HOF- $2,000|=0O%F $500
PO $1,500) B OB $300




MEEANSETRAIDFEHEENESE

O6LERREUS
241 i E S X it i L
B OFH $1,500(FROLE $1,200
FEOHT $10,000[#5ONH $500
s O $12,000FEOE $300
fit O $500| 5 O% $1,200
FO¥E $500[t:OF $1,200
S $10,000[ O $1,200
HOE $100[HEO7E $3,000
LOHE $100[fROEE $1,200
JLOER $100[21OZ> $200
FOHE $100[FO% $1,000
s O $100|E=OM $1,200
HORARBIZR $100[7EO $600
HO4E $100| EOH $600
21077 $100|EF O $100
EHOM $100[EBOR $100
BOfS $300[FOfa $100
FEOBEMZ $100[FO1a $100
FO# $100[#PO = $100
BRO3 $100|HFOZE $100
O $100|FFO1= $100
FRORL $100[E O $100
ZOREE $100|ZFCO5E $100
HOz= $100[ER O $100
s OflIfE $100/2£ O $100
TO7C $100|2£2 O $100
FOHE $100ta O $100
TOHD $100ta O $100
TOX $100| PO REH $1,200
HOX $100PTOEE $200
EOE, $100|FOE $150,000
LO% $100| 8 OZFZL $1,200
LO $100[ O $5.000
TOE $100| FOE $100
LOZ $100| EO4 $100
JLOW $100|EOfF $1,000
LOW $100[F=O"K $100
tHROE $100| EOF $100
LOE $100[=O#h $100
TOHZE $100[z=OH $100
=OZE $100|E= O $100
O $100[tOF $200
A O $100|EO%x $1,000
BROS $100[BEOH $500
O $5,000|E=O#F $500
£ OH $500E OFE $250
=OB $100| =05+ $615
FOBE $500) NIEEIMEEESERF (AR E] | $250,000
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TOXR $100| NAEEIMEESERF (AR E] | $250,000
JTOR $100 B AR EE AR E] $350,000
TOE $100[H O $200
JTOE $100[#ECO%& $1,000
B O $100[HOZE $5.000
10= $100[ZFO $600
T Ok $100[#E Ot $600
T O## $100 /4 O F Bk $1,015
TO¥ $100[ZF O $400
ZFORE $1.000HOH $900
qOH $2,000|21O%E $600
H OWEE $100[BI O $600
s O $100[ZFOZK $600
MO $200[21OZ> $600
0O $100[ZF O $600
O $100[ZFO% $600
£0% $500[BO%x $200
HOH $200[2£ O $1,250
HOF $500[BRORK $1,250
HOE $100[Z£OE& $1,250
O $300[Z£OF $1,250
O $200[ 5= O $200
SO $200TOE $6,000
BOZ $100|Z£O% $100
SO $500| EOAEHD $500
2IO& $500[{TO4E $200
EO& $200|EOHE $200
=SOHFE $200[52O3L $200
HO#H $500[{H O $200
POH $100[{H O $200
POH $100[=OE $500
ROk $1,000) &= O $500
FPORE $100[= O35 $500
BIO= $1,200)ZR O $300
HOLE $600[ H O $300
MHOZ $1.200{HOZ= $300
g O] $1,200 | i % B SE MR A PR /A ] $2,000
= OBt $600P T O $1,200
FOME $100[#HOFE $10,000
HOECER) $100) O $600
=0%F $12,000p TOKEE $600
#HOT $100[;LO% $600
HOzE $100[TOfZ $600
BHOF $100)TOE $600
Otk $100[;LOZ¥ $600
s O $1,200" O $600
= O $1.200[#ROE $600
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MO $1.200)TO%E $600
=2 OF $1,200)5=OH $10,000
HOIH $1,200/ O $100
= O $1,200|142 017 $100
=OR $1.200[=O*% $100
FOR, $1,200) &= O $100
RO $1,200| O $400
BROZR $1,200{ EO= $400
O $1.200[=OF $200
ZOfk $100| =0 HAE $200
E1@)i $100[#HOF $1,000
SLOME $100[#F OBk $1,000
FHOFIE $100[BBO $300
BIO%k= $200[Z OIEl $500
O $100[Ek O ¥ $200
BROMK $1.200[FCO $5,000
BROAE $1,200|FE O $600
HO& $500|21O% $1,200
=OH $1,000) s OEY $600
EAOLEES $100 | i Offg#(T $600
ZOR $100 s OZE5E $600
BROIE $100[FEOL $600
POHE $5.000) 7 Offs $600
fiti OF $100[F O $600
BROZR $200)| £ O $600
TOZEZE $400[ EO= $600
T O $200| EOZR%L $600
HOLL $1,200{FEO# $600
BROE $150| EO% $600
sHOE $200[E= Ok $600
ZFOHE $1,500[ £ OF $600
ROE $1,200)F O] $600
Z#0 $600| EO#E $600
BROHE $500| £ OO0 $600
fTOTF $200[ &£ OFH $1,200
RO $300 [ Ot $1,200
ROSHE $400[Ex OF $1,200
HEOHE $600[FEOFF $1,200
SOt $300 R Oy $1,200
w0 $1.000[2£O % $200
RO $500[#F O $200
BROME $500PTOEE $200
BROZE $100| EOFE $1,000
FEORE $600[ 2O E: $200
GO $100| BEIARD $500
sHOH $100| £ O $500
FOFFE $100[frO% $1,000
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PROSE $100[ =0T $100
MO $100|&£O'S! $1,200
w3 $100PTOZE $250
BIOH $100[ 2O Y $100
s O $100[21OF5 $600
BROXEG $200[5O= $100
FOHL $150[ZEOFE $100
BROZE $150[ O $250
BROZ $150[FROF* $300
RO $1.500[HEOE $100
AEOFES $500[ kO $3,000
i OIE $100| O $1,000
fitt O>L $100[f 7O 4 $300
LO= $100|a O $1,000
O $100[7R OB $5.000
g O $100|HECOH $1,000
g O/ $100/2£0 $250
qOE $100[ EOEE $300
FOZ $100[EOH $100
BRO®& $100[FRO e $400
e O $100[FRO# $100
O $300[Z£OF5 $500
HOEE $300[EBOEHES $600
s Offi $100[BR O1& $1,000
sTOf2 $100[BIOF $1.000
BOT $100[FRO g $500
EHOH $100[fO’a $500
sHO $100| RO S $600
#ZOREH $600[ZF0O $1,000
RO $500]+ORAE $115
FO1E $1.000FEO=F $600
#HORE $3.000FE O $600
BRO#E $200[FEOE $600
ETORk $200[FEOz= $600
PMOTR $200[75 O $1,000
2IO& $100[EFO# $100
BROZ $100[ R O $100
MO $100[ZFO1= $200
BROS $100[FO= $1,000
O $5.000)#H# O, $2,000
FORHE $500[#HOZ $1,000
AHOE $100[ = O $300
O $100|52 Ot $1,000
AEOH $100|BROHlI % $2,000
RO $1,000| 21O $300
20O $500[/F O $300
BROZE $100[2O& $300
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HO& $600[FR O35 $300
BRORL $6.000|12IOF $300
=OE $100[BR OF $300
HOZ $500[FR O $300
PR Ot $2,000[57RO— $100
AO%E $400[EH O $200
£0fE $400[BROHR $500
RO $400 R O $100
RO $400[=OF $5.000
= O $400 R O $1,000
EXO%H $400[ O $500
= O5h $400[m=O4= $500
Oz $100|1FOFE $500
LOE $100[ T O% $100
RO $3,000{ T O= $100
O $500[ T O $100
ZO= $300| TOE $100
O $300[ZO1H $100
=OJR $100[ T O= $100
w=OME $100[ T O $100
s O $100[ T O#h $100
=00 $100[+=0% $100
s O% $100[FEEORK $100
BIOH# $100[FEEORK $100
BROZ $100[EROF53E $300
s O $100|#H O $100
s OfE $100[#FOF= $200
=018 $100[AROFH $100
w0 $3.000|#H# O $500
Wi O $1,520150 $200
FOH $200[#H O $300
ROZR $200[#B O $200
O $300|#L Ot $200
FOBE $500[FEOA $100
TOXE $100[EEOZ $100
JTOR $100[FIOf% $500
JTOE $100[#A£O#H $500
JOE $100[ARO & $100
B O $100[ERO%K $1,000
10= $100[7ROZ $100
TORE $100[&k O $600
T O $100[ & Otfg $200
+O2 $100[t5OF5 $500
HOE $3,000|EF O $200
BIOZR $200[FLOH $100
H=OF $600)LOZEEE $1,000
g O $1,000] % O40 $100
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O $200[#F O $100
RO $3.000| & Ok $100
PROAL $600 |2 O 4k $1.000
FEOR $600[ZBORE $100
O $600|F O] $100
ROZE $600|&£O EERIZ $800
RO $600 [} O F Pk $1.015
HOWEIE $100[EROf $600
BROBH $500[#FOFE $1.000
Ol $1.200[ROF5 &= $600
BOM & $1,200|1FOF $100
MO $1,000)F Ok $100
BHOH $100) 15 O#F $1,000
PO#HE $600[EOFH $100
RO $600[FH OLL $500
PO $200|HOF $1,000
FHOFT $100[FHOFk $500
O $100[FROLEH $500
BOYIE $500[FEOE $300
s T O $100[FO%d $1,200
ZOH $400[E O B $1,000
O $400[2E£ O $3,200
BROZE $400[FEOZ $200
BROZ= $400| PO $100
BROw $400[EHO 4 $600
sHOF $100[ O $100
0 $100|ZF O $100
HOH $200[FH O%H $600
HOzE $100[#HOE $300
EAON| $500[# OB $5,000
RO $400|EO%x $1,000
RO $400| =0+ $6,000
RO $400[BHOE $300
ROFHi $400|F O $300
KOH; $400|H O $300
O $100|EOfF $1,000
HOE $100[fAIO4= $300
O $300| OB $300
O $200[## O $300
FOmE $200[Z1OT $300
HOE $100[i=m O $300
=OR $100|FEOFG $900
BOE $200| EOEER $300
ffOR $10,000| EO$ $300
FEOMm $100[FRO== $300
HOSE $1,200)| O $300
SO $10,000]&#r O $300
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EZOX% $100|22OREE $300
BOZ $100[HEOz= $300
SO $500[= OALIHE $300
RO $500| EOJT $300
SO $200| O HE $300
HO#H $500| EOAB $300
BORE $200| EO= $300
POH $100[5O3L $300
sHOSE $100[7EOE $300
tRO#K $1.000[-EO HEE $300
=O¥ $100[=OE $300
#ROE $600[HEOMK $100
BOE $1,000{Z1O % $200
Al O $3,000| £OT. $2,000
BROE $200[/ROF $1,200
RO $100[FHO A $300
PROZE $100[%O1E $100,000
BRO%E $100(FEO*E $600
MO $250[FEO%k $600
PO#HE $250 (R OZE $6,000
FROE $100[FEOE $600
BROBUE $100)ZO%E $2,000
SOH $1,000|121042 $2,000
sTOWF $200,000{ Oz $10,000
BOFE) $100,000{= 0O %% $500
FOE $2,000[E OHBH $1,000
RO $3,000[ & Oifl = $2,000
RO $3,000[ & Oifl = $2,000
RO $3,000) &= O $5,000
RO $3,000|ZE O%k $600
ROZE $3.000| 5 O%#, $700
TOR $500[=O#h $700
B0 $200[5= O $700
Oy $200[#ORE $1,000
BOF $500[#ORE $1,000
BOH $1.200(t5ORE $1,000
2O $1,200|ZF O $100
EO $1,200|1ZOt& $100
=0 $2,000|EfO%E $100
FEEVE N B R AR $20,000|E3O1= $100
ROFEER $5.000|ZL O $100
TOE $200[ =0+ $7.960
TO%& $200 (1] O3 $100
FOH $200[t5OFH $1,200
TOF $200[15O%E $600
e O $200|k Ol $600
s OH $200/5EO#E $600
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= O $200[7ROE $600
BHOHE $1.,200|FE O3 $2,000
BRO#E $2,000|8OkE $600
HOL $6.000|1O % $600
BROFZ B, $4.000[ZE OO $600
RO $600|E=O%k $600
JBO%K $600[FE O $1,000
BEOE $600|HO=E $2,000
RO $1,200) Z ¥l $2,000
HEOIR $1.200[E O $2,000
i O B $400[Z Ot $2,000
HOBH $2,000| O $3,000
FZ OB $600|HOF5 i $5,000
1 OBl $12,000{22O% $100
FR OBk $1.200{#%OF $6,000
OB $600|#EO $20,000
BORE $1,000){f Ot $500
EOEF $600[FRO L $300
O $2,000) kO $300
OB $10,000|5EOF $1,000
BRO-F $1.200[E O $1,000
FO% $600[#O $1,200
BOE $600[/HORX $2,015
S ORE $600[#AOAI $1,200
£ ORk $1,200[t5O % $1,200
BEOT $1.200({T O+ $1,200
BOH $600[t5OHT $1,200
RO $600[t5O#h $1,200
FOE $5,000|EBOf= $1,200
#HO _E4k $1,200[5R O F $600
BORE $600|5=O H 1 $600
BO= $600| 5= O $600
B O% $600|tr O $600
BROTE $1.200| FO% $10,000
FEOEED $600[ZFOFHIG $10,000
O $600| = Ot $300
FHOH $3,000[FR O € $500
PO $600] BRO -4 $500
sHOZE $3,000|f0OE $2,000
fit O $600[FRO#E $600
FROET $500[BROHE $500
HOR $1,000]5=OR $3.000
ROBL $600[#5 O $1,200
=ROHT $600[HOZE $400
it Ot $600[BROFK $400
O $600[FROZ $400
Ot $300[FR OB $400




MEEANSETRAIDFEHEENESE

O6LERREUS
241 i E S X it i L
W ORKE $600 (BB O $400
HOEE $600[BRO%H $400
HOEE $600[EROf& $400
RO $100[BROF $400
B0 $100[FRO2 $400
=OK $1,200[FROE $400
O $5.000) B R $400
RO $600[BROLT $400
F0O2 $3,000LOZ## $700
FRON= $1.,200) BE O $300
w16 $1,200[#OFF $5.000
FEORS $1,200)BROTE $600
HEO $1,200)B O $600
HO=E $1,200| & O ] $600
=0% T $100[BEO $600
FHON $1.200[EHOF $600
HOE $1,200{EO* $600
HOH $1,200[AEOF % $600
FHOF $1,200[=O%¥I & $600
FOK $1,200{ = OFE $600
O $1,200)8 O 8t $600
BEOMH $1,200|5=OF $600
O $200[ = O $1,200
£0fE $200[FR OfZ $300
RO $200[ET Ot $2.400
FO75 $200[=OEL $600
= O $200[#£O $600
EXO%H $200| EO% $600
= O54 $200[2£ O $1,250
g OR $1,200)BEEORK $1,250
BROH $1,200{Z£OfZ $1,250
S OMAE $1,200[22O0%E $1,250
HOBEE $1,200|5R O£ $600
BO% $1.200[{5R O $600
FHOK $1,200)1#EO H & $600
OIS $1,200)5F O3k $3,600
FAGE $500| EOAEHD $500
HOE $1,200( TOER $700
HOE $1,200| = OHA $600
ZOE $200[Z£ Otk $600
O $200| EORE $600
PROZE $200 1 Of $600
BROZ= $200]= O35 $500
BRO® $200[BROLTF $600
FHOE $1.200{#O1L $5,000
H=OR $1.200{58OE $300
BROZ $1,200| FO#= $900
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RO $200[FRO%E $100
BROE $200| EOE $100
RORE $200| EO4 $100
ROHi $200[FR Ot $100
RO $200[ 5= ORE $300
PROZ $1.200[HEO#F $2,000
FHOTE $1.200[FR O $100
A O® $1,200| FOH $900
O $1,200|#0O = $1,200
O $1.200({TOZE $1,200
BROE $1,200{#OJI $500,000
O $1,200|2E O=F $1,000
Z0 $1,200{ =0+ $500
HOB $1,200|BEOF $100
AT S $1,200)x O $100
=50 $300[BR O $100
H OB $300 R O $100
KOS $300[ OB $100
i O $300[FROJE $100
i OFF $300[ER O $100
AO*% $300[EFO% $100
E=OUE $300F O $100
O $300[ETO*E $100
EOHE, $300[EFO f, $100
E=ORP $300[5TOZE $100
EO% $300|#EOIE $10,000
LOZ= $300[#FO1E $10,000
HOFF $300|122OF $500
= O $300| EOH $100
=O%E $100| FO= $100
=HOH $300[=O# $100
= O $300[z=OH $100
EHOR $300[5= Ok $100
£0O8R $200| EOZE $300
O $200)Z O’ $300
BIOZ $200[FEOF $1,000
H#HO $600| EOZ $300
Z0O $300| EOFF $300
fiti O $100[FEOH $100
ROBL $300[H= O $100
RO $300[FE O $100.,000
RO $300[5ROH#E $5,000
RO $300[/FEOHE $1,000
FEOF $300| =05+ $1,000
FEOR $300| =05+ $700
FO®E $300[= O $100
FEOzE $300[ = O $100
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PROXE $1.200[= O $100
HOE $1,200) 50O $100
ROBL $200[E= O%# $100
IO $1,200) 21Ot $100
AROFHE, $1,200)B O $100
MO $600[=OFH $100
BROTE $600[= O $100
TOREH $600[=O1E $100
BRO% $600[BO%x $200
FR O $600|E= O $200
BEO $600[BRO $1,200
EHOH $600 | O2 $1,200
FO= $600| kO $3.000
FHOMH% $600|E=O%F $500
BROHL $1.200[z=0O& $100
BEOE $1,200| 21O $300
RO $1,200|/50OE $300
BIOPTH $600[2I O $300
ZOH $1,200{FE O $300
BRORESE $2.400|121OF $300
BROIS $1,200[BR O£ $300
EOTE $1,200[FRO%& $300
HOHZE $600[FO= $100
ZORE. $1.200[EE O $10,000
T OB $600]Z2OM $100
FAOEK $600| 77 $2 bSER AT A IR /A H] $500
ROFEE $600|FEOH $100,000
FO:% $1.200[HO % $2,000
ZO®HE $600| % OB FE $400
TORE $600[ O $400
O $200[FRO1E $400
M OZA $1,200) i OF $400
FOFE $1,200| RO $800
FOFE $600[ EOZF=E $800
BROLF $600| £ O $400
BOFH $1,200|BR O $600
FHOHE $600|E=OfL $5,000
BROZE $600|2£OH4 $400
POk $1.2001Z20O $600
ROR, $1,200[5FO T $800
ROHE $1,200)5£O% $900
HOEE $1.200[5RO&=F $400
ZO1 $200[FE O $600
FHOrtE $200[ 52 Offg $1,200
ZO=E $1,000) B O 7 $2,000
HOT $100|F O %k $2,000
=HOHE $100[FROZE $400
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LOH Ky $1,000)FEOF $600
BOE $20,000| 8 O $400
O $1,000|EHOFT $400
O $200|2F O % $400
ROZE $500[FR Ot $400
#FORMH $800[#E Ot $400
£0% $500[F=OL $400
HOHFES $600[B1OA $400
MOZE $300[E= OKE $400
HOHE $3,000[FEO & $800
s O $1,000) B O $400
F Ot $300[FROEY $400
=0% T $100[ EOHK $600
OR $500[FRO%E $600
s O $100[BROZ $600
BIOF% $1,200) B OF5 $400
2IOF $700[BRO e $400
FOX $1.815[52O% $400
ZOF $100[5OAY $400
Ok $100[HO=82 $2,000
E O $500[HEOIE $400
£0H $1,250) i O=L $400
BROBK $1,250|4L O= $400
£0f& $1.250{50CO %) $400
£0= $1,250) % Of# $400
= O%F $1,000) % Of $400
FHOEE $100[E OF $400
JORE $500[FEOZ% $400
TOEE $200[BROH $400
BO= $1,000) 5 O$, $400
PROFE $1,000|EROLEE $1,200
O $1.000|EFO % $1,200
O $300[ET O $400
BRO B $300[ETOfE $400
T OB $200[t5 O+ $400
OB $500[EH O $400
T O $500[FAO #h $400
HOH $100/z=OREH $600
SBOH $500)| = O $2,000
FHOE $1,000(BREO & $800
PROES $300[5FOfL $800
B0t $300[ OBk $800
OB $300[21Of% $400
BIOKE $300[BROZ $400
BRO% $300[ O $400
BIOH $300[HOE $400
BROE $300[FEORI $400
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BRO $300); O $400
TORE $315|5OF%& $400
SO $1,000( % Ot $4,000
BOZ $5.000[FROHD $400
BROZE $1.000FEOH $600
O $200|2F Ot $600
HOFE $5.000) POk $600
ORI $200(#% O $400
ROM $300[t5 O $600
EMELEE $5.000)1 85 O%L $100
P B N B B B T e L $10,000|ZOF5 $900
AEOE $500[FFO $900
EAOLEES $100[EAOFH $400
ZOR $100[ER O $400
PROIE $100[FECOH $2,000
fite OF $100[#OE $400
BROZR $200[/5O15 $400
PROE $150|BHEOE $800
iTOTF $200[=O & $400
RO $300[5= Ot $800
SOt $300|EHO&E $400
RO $500[FROEE $800
BROME $500[F O $400
BROZE $100[FROFE $400
g O $100[BRO#E $400
sHOH $100[FOE $300
2O®E $1,200|ZFO%z $300
POt $100[ZFO1& $300
w3 $100[#O ke $300
BOH $100[BHOR $600
s O $100[BHOR $100
BROXEG $200| EO=E $600
TOHk $150| EO= $100
BROZE $150[5=OF4 $800
BROZ $150FE ik $1.479
AEOFES $500[FEIE R $1.479
fiE OIE $100[E = $4.930
fit O3L $100| /=45 $4,930
LO= $100[FPHE 2 $1,972
O $100| FEr iy $1.479
g O $100) it & 58 $1.479
g O/ $100| R E1F $1.479
2OZ $100| & 4% $1.479
FOZ $100| &9 $1.479
BRO® $100 BRI $1.479
s O $100| 1 = $1.479
SO $300| R 5 $1.479
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EIOFE $300| 2= E it $1,479
s Ofif $100| P £ Fin $1,479
SO $100 |t & $1,479
BOTF $100 | Bl $1,479
HHO%E $100[EHEEDL $1,479
O $100| 258 $1,479
RO $500 | ERHE $1,479
%O $1,200| Bl 1R $1,479
BROHE $200(F 018 $1,479
EFORK, $200[FREEE $1,479
OB $200)/EER R $1,479
205 $100[$E/ V& $1,479
BROZZ $100| 27K $1,479
O $100 B <F Rk $1,479
O $1,200| BERESF $1,479
HOE $100[ KB FE $1,479
ORI $100| K7k 52 $1,479
HEOHE $100[ 7k iR $1,479
—0O%+ $5,000| 7K $1,479
RO $200 [ B A $1,479
o Ot $1,000|FE%IZE $1,479
EOR $200(5F ERE $1,479
RO $3,000|PREEER $1,479
BEO%* $1,200 B BRAA $1.479
FHOT $100| B LA $1,479
FO $100| 5 an%E $1,479
HOF] $100|ERNE=: $1,479
B0 $100| =3 $1,479
O $500 | P A &Y $1,479
HOE $100[EF K14k $1,479
BEOE $100| FhmAL $1,479
BHOE $200|$E BLSH $1,479
BROIT $10,000 B & 41 (0 $1,479
EOZ@E) $900,000| % 575 $1,479
RO $200| EZ A $1,479
HO%E $100)E 5t $1,479
PR O $500/ 555 1 $1,479
HEORE $500[$EE B $4,930
ZOH $500|ZEfE 5% $2,958
BROEE $200 | K. £ 1 $1,972
BRO(- $100[5F 55 $1,479
BROE $100|HEESE $1,479
RO $100[EEE4E $1,479
RO $1,000| TS $1,479
E£OF $500[ECE $1,479
BRO— $300| B R 4% $1,479
BEO% $300[/EHERE $20,000
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HOXK $1,200{ RO AL $200
FOK $1.200[FROE $200
EHER $1,000[ZFOEZ $200
HO $1,200|FOF. $200
£0OU1E $1,200| PO $200
BRO1E $1.000|2£O%H $200
£0H $1,200[ O $200
£ZOJN $1,200[ O $200
ZOR $1.200{#kOF7 $200
BIO== $1.200)47O H $200
HOMR $100[#FOfE $200
#Ola $100[#FOf& $200
O $100[22O= $200
2O $100[#FO%& $200
O $100|ZE2 O $200
£Z0OH $100| 2O $200
BOR $1,200)#O4= $200
BOIE $1.200[EOK $200
BO%E $1.200|88 O $200
BOBE $1,200|8EO& $200
FOF $100[EEOZEE $200
i OF] $1.200[BHOZ $200
s OBk $1.200[Z£ O] $300
w16 $1,200|1#% O $300
FON $1,200|#5OH $300
EORE: $1,200|52O%E $200
BEOAL $1,200| RO $200
HORE $1.200{5OF $200
HOE $1,200) B Ok $200
BO%E $1,200{HO% $200
PRO5A $1.200[FEOfE $200
HOZ $1,000]BE O $600
=0O%+ $1.200( & Oy $300
AOR M $1,200|#EO% $1,000
O $1,200{=OFb $1,200
RO $1,200|1#+O $600
SOHBE $1.200[ EOZKEH $600
FROZE $1,200|#H O% $600
BO% $1,200]H Oli% $600
ROF $1,200) 5 Ot $600
+OZ8 $300|ZFOFM $600
B O $300[FROF $300
MO $2.000|BR O $300
75 e ZER (i A IRV E] $1,000);& OfF $300
ROME $10,000[;EOF $300
FOM $1,200|{z=OFE $300
sl $1.200{#ROBK $1,000
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BO# $500[EEO#E $1,600
FOJEL $1,200| EOE $1,600
HOZE $500| EO4% $1,600
SO¥W $600)EOTT $300
FOHE $600( 2O H $600
75 OBH $600[BHEOBE $300
BO% $1,200[FOFHH $600
mO=H $1,200( O = $600
BROZE $100[fHO=F $300
P Oz $100[E#O=E $400
M OFk $2,000|4] OBk $400
BOF $1,200{z= O4H $400
FO% $2,000]EOFk $600
HORE $3,000[KOEE $600
BOA $10,000| AT O %k $300
@) $1,200|FHOE $600
B2 OBPED $1,200[BEO%E $600
5O $1,200/FEOH $10,000
=0 $1,200| EONE $1,700
P O+ $400| EO# $1,700
RO $1,000{ = OF5 $1,800
HOE $3,000|5 O%E $600
HOE $250[450%E $200
O $600|2OF $500
HOEE $1,200[ OS5 22 $500
O $1,200|FE O 3% $500
PROZK $1,200|15FO%& $100
O $100[HOH $5,000
BROA $3,000{EO= $2,000
L{@)) $1,200|1#5O % $1,000
EHO $1,200{FAOE $1,000
=OM $1,200{LOE $1,000
5RO $10,000| /A1 T(Daya Kusala) $1,200
BOZE $1,200| 0= $1,000
BROLL $1,200[ FOstf $500
MOEAE $100| P Ok $300
KO $1,000|FtOF $1,000
KEOEAE $1,200[5RO S $500
wROE $1,000|=O%E% $2,020
BRO# $100[FRO*E $1,000
P O#% $100| =0T $100
O $1,200[#50 % $500
BROTE $200|2 O $1,000
FOX $1,200{= O%F $1,000
FO1E $1,200|3 O $3,000
FOZF $1,200|fHORE $1,500
BOHE $1,200|=OEY $1,500
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TOE $1,200)47 O $300
EO5% $1,200[FR O 1 $300
FOME $100[ 5O $1,000
BEO% $1,000|5E O $1,000
=OE $300| EOE $300
BROE: $100[EOH $100
BROZE $100| 52 OsEx $500
O3 $1.200{FRO#2 $100
RO $1.200{ZF O $100
=0O% T $5,000| B E fFhECE T $20,000
FOE $600|2IOF $1,200
BEOWH $1,200[FIOFEx $1,200
FROE $1,200|121OJ= $1,200
RO $1,200|121O $1,200
FOWM $1,000|121O& $1,200
RO $1.200({FPOE $1,200
LOZE $1,200|121O% $1,200
BIORE $1,200|EOF $5,000
BPOFFAL $1,200[EHO I $200
FOEM $1,200)BEOHE $500
HE O $1,200[FRO 5 $100
=OEE $600[HIOA $1,200
TOTE $1,200| 1O $1,200
O $600[HIOZE: $1,200
= O% $600[HIORE $1,200
BRO H 5% $1,200[ 10O KL $1,200
BHONE $500 (IO $1,200
RO $500[ROZ= $1,200
T ORI $2,500) B O $1,200
T OfmG#E) $2,500| 1O $1,200
TOHE $2,500)BEO $1,200
T OxF $2,500)BEO $1,200
JTOfE $2,500|HOf= $3,000
ROZE $1,200TO%E $2,000
FHOR $1.200[=O5 $5,000
FOTT $1,200|1220F5 $500
MOZ $1,200[E O #S $500
MHO=EE $1,200( PR Ot $1,000
MOEE $1,200|1EO%f $500
PO $1,200)&=0O4: $500
£ZOE, $1.200|18O% $1,000
FOfH] $1,200|F O $500
FOEL $200| T O% $100
ZOR, $200| T OJ= $100
PO $100[ J O#F $100
£ 0% $100[ T OZFE $100
MHOE $100[EO1H $100
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PROH $100| TO= $100
HOLT $100[ T OJE $100
FOH $100[ T O $100
HOE $100| EOE $100
HOl& $100[BIOFF $700
ZO= $100[FHOF $5,000
O $100[FEO= $100
2504 $100| EOHH $1,000
ZZORE $100| EOE $1,000
HOE $200| =0T $500
O $200| B Ol $1,000
O $200|EE O $300
208 $200[FH O $100
BEOEE $200| 2O $2,000
EHOE $100[FHO A $500
EHOZ $100[FROZ= $200
ZEOM $300[#5OIIE $500
5O $300[FROE $100
BOE $300[A Ot $100
ROE $200[H O $500
BROM $2001 50 $200
RO&F $200| 88O $200
RO $1,200{ B8Ot $200
B Ok $200[FEOM $100
BROTY $1,200(f 202 $100
HO%E $200(ZIO% $500
BROME $1,200{F O $500
HOHBH $1,200[ kOBl $100
FOH $600[ERO%k $1,000
FOF $100[5EOE $100
=L $400| EO e $100
RO $1,000[ & Ot $200
O $2,000[#50O55 $500
EEOZFAE $1,200{ & Of% $200
B O fF A $200|2OE $500
RO $200)3£OH $100
EOMH $200TOERHE $1,000
BROE $2005EO%0 $100
EEOIR $1,200[fEOFE $200
BHOME $1,166|RO%E $100
BHOME $400[E Ok $100
O $1,200|FEOJT $100
FBO®E $100[BFOZF $500
{HOTY $600|ZFEOE $300
= OB $600[FROF] $100
%O $600| KO%k $100
FO% $600| R O¥ $100
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220OF% $1,200|ZEOF5 $200
2O $1,200{ EOzF $1,000
BOF $1,000| KO $100
EEOXL $1,200|ZEOH $1,200
EAOL $1,200| 21O $1,200
EROZE $200|EEOH1 $1,200
PROZ $200|EEOE $1,200
sEORE $200|Ex O REIZ $300
EEORH $1,200{BEOF $300
FEO#E $1,200|B10%F $1,000
OB $1,200{Z2O%% $100
B OH $1,200[5RO% $300
MO $2,000[#AO B $2,000
TO% $1,200| 7 2 BRI B IR/ $500
EOf $1,000[#R O $5,000
FOE $500[FR O $200
O $600| = OHE $300
2O&F $200|4:OH $1,200
E@):= $1,200|4-O4% $1,200
BROS $1001#:0O&E $1,200
BROS $100[ZO¥E $600
#H ORL $600[ZOFE $700
22OH $3,000|FEOER $200
FO# $100 R O% $400
FO# $100[TEO%k $600
BROE $100[TEO%k $1,400
BROE $100|ZEO % $200
BROME $100[FRO4F $200
BROME $100[EOfF $1,000
FOK $10053FO%= $4,000
FOHK $100|£O%E $200
BRORE $100[{F O $500
BROJRE $100[HAO4E $200
BRO& $100[FRO¥E $200
BRO& $100[HOEE $1,000
sFO% $100[FH O $200
Ok $100[BIOF $200
BROE $100[BIO%% $200
BROE $100[BIOF $200
EFOZE $100|-+OR4 $115
EFOZE $100| O $100
O $100[FE[O $1,200
O $100|ZBOHE $100
BFOF $100[{HO&E $100
BFOF $100[{HO&E $100
HOZ $1,200|FF O $100
FOzE $1,000|EO# $1,000
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RO $1,000|ff OZE(EZS) $100
HROZRL $1.200[fOEER $1,015
BEOH $1,200|1FOF $100
RO $1,200|1#E O3 $2,000
H OFk $600|#5O 2 $200
AO58R $1,200| = O= $200
FEO(E $1,200[FRO K $200
PROZE $1,000) RO $600
O $1,000) = OFEAL $200
HOZ $600[#O %] $200
ENOY/N $500[#OF= $200
HOEE $500[FHO=E $200
HOME $500[FHOBE $200
HOE $1.200|# O $200
AIOE $600|E O #: $200
AIO%E $600[FEO= $200
O $1,000|BOF7 $100
O $1,000|BOFF $100
BEO5E $100[F Otk $100
BROBUE $600[FH OB $1,000
+O%= $1.200[EFOXE $2,400
0% $1,000|2F Ok $100
& Oy $200[ZF=O%k $100
BOZE $1,000[ 5 O $100
FHOFE $100|5 O $100
O $100[FEOZ $100
=077 $2,000[ZFO= $100
O $600|FPO = $100
MHOE $600[F O $100
HOFE $5,000[ZFOF1E $1,000
FHOH $5.000| O $1,000
FOItk $1.000[HO $500
A O $1,000) 8 OBH $100
L ORL $1.500|B OB $100
FOEH $1,500(fit O $100
AEOH $1,000[HEO4T $1,200
=0 $10,000|BR O $150
FO% $5.000[ZF O $1,500
TOBE $1.200[7ROZE $1,200
LOME $1,200)5FO T $200
BROEK $100[5OEH $400
HOBH $500[FRO & $500
s OHT $100F O %k $500
wOHT $500[FROZE $100
FOH $250[ 2 O $100
SO $1.200[EHOH $100
i OZH $600|ZF Ot F= $100
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0" $2,000 B O %: $100
BHOE $1,200] kOt $100
BO#Z $1,200|= O3 $100
BO& $1,200|210O% $100
BOHG@E) $2,000[E= OFE $100
BOFE $10,000{ F Ok $150
RO $500( P Oz $150
EHOZ $500[BROZ $150
PR Ok $300| RO $1,500
P OB $2,000[ OS2 $500
HOME $2,000 O 1 $100
SOk $50,000) i O $100
OB $500|40 O $100
RO H 4k $1,200(6F O %) $100
fkO5L $600[ %8 O $100
PO $1,200]% Oft $100
HOPE $6,000[% O $100
RO $1,000|EO%E $100
SFOM $1,000[fOF $100
SO $10,000[=O%4 $100
BORE $1,000[EO 1 $300
RO $600|EFOEH $300
EOE $1,000[ZOff $100
=0%F $6,000|5FOf& $100
BEOF $2,000/80OF $100
205 $2,000([EHO%E $100
22047 $2,000[EHO#% $100
220% $2,000|FRO#fE $200
2O $2,000[ OBk $200
3EOH $2,000[FkOBE $200
ZLOMRE $2,000 AR O $100
2O $2,000# O & $100
O $3,000[FEOA $100
FOMST- $1,200/O48 $100
PROFEE $600|EF O $100
PR O] $10,000|EFOta $100
#0H $200|EFO %8 $100
RO $200{EFO— $100
FO¥E $500|EF O $100
sROME $1,000|FROREK $6,000
sROF $1,200) ] O3 $100
ROZ $1,200)5ROFE $600
O $200|f] O e $1,200
FOE $1,200[EHO¥ $100
=0 $10,000( B2 $100
RO $2,000[FEOI] $500
=0%F $500[#O3E $100
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S OF5 3 $5,000[BHOE $200
= O $1,200|%20O & $100
MOFER $50[FEORKL $1,200
FOAED $500[EHOEE $100
ROKT $1.200)O%F $500
HO $50[FROIE $100
SOHBE $5,000{FROEE $200
HOF $1,000) % Ot $300
SOl $5,000|ZF O F $100
OB $500[FR Ot $100
ZOR $1,000[FEO & $200
RO T $1,200| 52O $500
=50 $500[21Of $100
PMOZR $100[BROZ $100
RO $500( % Ot $1,000
sTOF $2,00018 016 $100
O $500|5=OE $100
HOZ $1.000{52O## $200
£0% $100[FROEE $200
BOE $100,000]O= $100
RO% $1.200[FROZE $100
JOH $1.200{FRO#F $100
HROEY $10,000[ 5O $200
E2 S $5.000) B O $200
BOE $1,000)|F O $600
MO $1,800| 2O $600
EO= $400[ SO $600
KOBH $1.200{ZFO%K $600
ROT $600[2[OZ> $600
g ORE $2,400)2F O $600
MHO% $400[F O $600
BOE $1.000[Z£O# $100
FHO% $600[FR OfE $200
FEOR $200] i O $500
EOH $2.400)BECOBH $500
TO#HE $900[E= O#F $500
s O $500[ O $100
e O $500[= O $2,015
=05 $500| RO $1,200
BOE $1.200[FR O $1,200
TOH $900[FRO 7 $1,200
RO $1.200[EEOZA $1,200
ROE $1,200[EHO I $200
=50 $1,200]BROHE $500
EXOE $1.200[FRO 5% $100
#O $1.200)E=OF $5,000
FOE $1,200{ ROt $1,000
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s T OM $1,200{ RO % $500
T O $1,200|=0O%E $500
JJO&E $1,200|F O $500
+0O $500[ T O% $100
LR $1,000{ T Of= $100
VL3 $1,000{ T O#% $100
PROH $1,200| T O $100
H O $600[EO1H $100
HOZE $1,200| T O= $100
i OB $1,200) T OFE $100
BROFT $1,200) T O%# $100
F O $600| EOZ $100
BROF $200[2O%x $200
BROE $200[2£ O $1,250
HOWM $200 R OFK $1,250
EOTE $200|122O1& $1,250
ZIOF $1,200[22O%E $1,250
ErOZR $1.200[z=0O% $200
£05 $1.200| RO $2,500
wOfE $1,200)EEOPK $100
w0 $1.200)fOFE $300
s ORI $1,200[#H OFF4F $100
O $400[#FOZ= $200
ROFH $1,200] 5= Ot $1,000
O $1.200[fR O $100
RO $1,200) RO $100
T O $1.200FEOE $300
FEOFX $1,200|#H# O $500
ZOH $1,200150 $200
FRO®E $1,200|48 O $200
B OF% $1,200|#8OLEE $200
RO $1,200) 5= Ol $300
EOTT $200|FEOFA $100
ZIO $1.200[ 02 $100
BIOPATE $1,200|1210% $500
ROgH $1.200{ 4O $500
BROBE $200[ RO &L $100
O $1.200[FRO%k $1,000
£O0E $1,200) & Oty $200
ZOHE $1,200[t5OF5 $500
HORME $1,200|FH O & $200
FOF $600[ O $100
FO= $600)) TOZEHE $1,000
PROE $200[ O $100
=OE $400[FE O $100
FIORL $200/E Ok $100
FIORL $200[FRO 7T $100
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EO $400[EF O %5 $500
FOM $1,200|20OE $300
HO4: $1,200|FROF] $100
AT O%k $200| RO%t $100
BOE $1,200[ KOs/l $100
ZOH $1,200| KO $100
21O $1,200[FH O #0) $3,000
ZE0O¥% $1,200 [ O $600
HOFH $1,200(BF O $600
#O#E $1,200|32 01 $600
#HOE $1,2005BOEHE $500
HOR%: $100[FEO4liEF $500
P OB $1,200|1220 $600
BRO% $1,200|12ZO%& $600
MO% $1,200[2%0O% $600
% O% $1,200[4O3 $600
=OME $100[ O = $600
SO (0 $1,200(ZOF% $600
ZOE $1,000[HO $600
FOM $500[O%% $600
GRS S $2,000£O%E $600
O $1,000[#£O $600
FEOTT $500[#5 O $600
NOTE $1,000 [ O $1,200
0% $500[EFO B $1,200
B O #E $600[#F O+ $600
FEOE $2,000|FE OEF $600
BO&K $3,000[EFOJzE $600
HOR $1,000|EFO = $600
=HOMR $300|EEOHE $2,000
=0%F $500| 21O 3% $800
BOEE $500| IO B = $800
BO%E $100[EFOE $600
TOME $100[;FEOZE $50,000
HOE $1,015[#k O+ $20,000
EO $1,000[B5O % $1,250
2OFF $700(pE O~ $1,250
=OJE $500[#5O%= $1,250
IOk $200[FF Ol $2,000
BO= $1,000 (B O $2,000
%O $250|EEOHE $200
=OHE $200 [ O # $1,000
O $100|FHORF $3,000
7 OB $300| 2 Ol $3,000
MO $2,500|F Ol $10,000
FOMH $2,000[5= Ok $3,600
BO% $1,000[20 = $200
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205 $800[EX O F:HE $3,000
OB $5,000[#HOEE $200
O $300[3EOE $300
BOFE $1,000|BFO B $200
BOH $100[BBO#% $200
HORE $200|EHO#K $5,000
=OX $200[ 2O $3,000
HO= $200[FHOFH $1,000
HOZE $200| RO E#E $1,000
£0 $100|HOFia $1,000
TOH $300[ OB $2,000
T O $500[#%OHS $1,000
HOH $100[FO%E $1,000
PROAH $1.800|FOF $2,000
ROk $300[EROZ> $2,000
w=OIR $500|HO= $1,000
RO $1.000[ZF O $1,600
BOH $20,000|FHOZ) $1,000
BRO#E $100[#AOfE $2,000
BOE $500[ RO $5,000
O $10,000[BROF $5,000
FOE— $10,000[BEOFE $5,000
BRO%E $2,000| POt $10,000
E O $100[fFO58 $10,000
0O $100[2O%4 $1,000
EOR $5,000[FEO £ $10,000
BEOR $5.000)FEOE $5.000
SOH $3.000[f£ O $20,000
EOT $1,000|=0OE $5,000
MO $1,000[FEO $4,000
BOZE $1,000{ PO $4,000
EOHER $300[FEORI $10,000
EZOX $500[FIO3L $10,000
FROET $500[ZF O $2,000
HOR $1.000 Ok $5,000
BHOm $300[E=Of& $1,000
BOZE) $420,000|E= 058 $1,000
TOE $100|tROsAi $1,000
TO%& $100[ZFO7H $1,000
OB $100|E=OBE $1,000
TOF $100|E=OFE $1,000
=08 $100|E=OH $1,000
=OH $100[#ONEF $1,000
Ok $100[BR O $1,000
BOFE $2,000|FOF $1,000
RO $1,000)5Z2 OFf $1,000
SO $2,400]3OM $1,000
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=OE $300[EOIIH $1,000
Jiti O FEER $1,015|EO4L $25,000
BROTE $1,000|FE O $25,000
HOE $2,000|5:OF $500
=0% T $100[EXRO % $200
O $100|FHOE $200
BHOF $100|22 O $200
= O%f $1,000| PR OFZ $500
BOZ= $1,500|BROFE $20,000
O $100 B A A PR ] $1,250
TOE $1,000[{ERr = N EELET TRV E] $30,000
BRO $400| L EEELA TR E] $4.000
RO¥ $1,000| & IS EERHAPRA H] $4,000
Oz $100|H BT AR H] $40,000
BOR $100|t6ZF B i A PR E] $20,000
FOK $100| = RALETHIR/NE] $12,000
FOK $100 [ EE TAZ AR/ H] $10,000
FEORZ $100| A pie s B (A PR 2 E $30,000
BEOR $100| EVER R AR THERR (o AR $10,000
LOME $100| P Bl e A o & $40.,000
LOME $100| RALHERE A A PRI ] $12,000
SO $1,000| & FEFHZEA PRI E] $8,000
ZOZE $100| tEARRE AR/ E] $5,000
BRO% $500 | FRAEHERHE (3 A TR/ E] $1,000
BEOLH $100|FREEFEPRHL 3 AR/ E] $50,000
FOPE $200|52 O $1,200
fit O $500|BEOF5 $1,200
PO $500|EEOF $1,000
BIO%k= $1,000) ¥ OF $1,000
O $100[#AO40 $1,000
O $100[#EOH $1,200
FORd $1.200[FROFEE $1,200
1 $2,600|E= O $1,200
B $1,500{ Ot $500
ER=R $10,000{BrtO% $1,000
s O $1,200|ZF Ot $1,000
HOBH $1,000[FROF $1,200
SOk $50,000| £ OFE $1,200
RO¥ $300| EOFEE $10,000
BrOTE $500|E= O $1,200
FEOT $600[7= O $1,200
HOEF $600[5=OF= $1,200
BORE $1,000) B O $1,200
s O $600[ZF O $400
s O $600[{ZO A $300
RO $600[HOH $1,200
O $600[3EOF $100
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MO $600[HEOFE $1,200
BRO ] $600[ = OEEE $1,000
BROR $600| EOAEHD $500
BROIE $600| EOE $300
RO $600[EFO = $100
BROLE $600|= O3 $500
O $600[ 2O E: $500
FHOXE $1.200|FO= $100
#2O $1,200{#AO%F $1,200
LOEE $200[5 O $1,200
HEOEH $50,000{ Ok $1,200
Z OB $600| EOFT £ $1,200
ZFOHiy $600[EFOLE $1,200
FOE $600[{T O35k $1,200
FOfE $600|{AOF $1,200
FOM $600[HROZE $2,000
BOE $4.000[5R O $5,000
FHOH $1,200|HE FhECE LT $20,000
wOE[H] $1,200[E Oifl = $500
ROZE $1,000[& Oifl = $500
HOE $1.000[#5OH $6,000
RO $1,200)HOFF $500
BROH] $1,000]FHOFF $500
O $500[ZOHE $5,000
HOE $1,200[t5ORE $1,000
FOH $600|#ORE $1,000
=OE $200[=O %+ $200
AoV $1,200{ =0+ $300
it/ DI $1,200| =05+ $15,000
lizZemn $1,200) kOt $300
(2L $1,200) kOt $300
AN $1,200) i O1& $600
R $1,200{#kO40 $1,000
HEZ $1,200) it Ot $600
A $1,200) i O $600
TREETR $1,200|= O%, $300
i (B8 $1,200)#kO40 $20,000
T $1.200pTOFE £ $200
&2 $1,200|12FO1= $200
AR $1.200[FROFEE $1,200
T $1.200|FO& $1,000
TRAECY $1,200) B O $1,200
BREZAN $1,200[E Ot #E $500
el $1,200|5FO%#, $1,000
TRACT $1,200{FE Ot $1,000
Lz $1,200| =05+ $100
35 $1,200{¥E O $6,000
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52 $1.200|18O2 $1,000
L $1,200|ZE O=F $1,000
TRIREE $1.200{= O%F $1,000
Fiala $1,200)47 O $300
o5 $1,200[FR O $300
BEHE $1,200)FO& $500
7 [ $1.200[FH O $1,000
Al $1,200) AR O $10,000
AN/ = $1,200) BE Ok $3,000
L1 $1,200| 21O $300
AREIEES $1,200)/6 O $300
pAR i $1,200|121Of& $300
WestES $1,200{FE O $300
JLEIE $1,200|1210O# $300
HEL $1,200{FR O£ $300
S $1,200[FR O%& $300
PR SR $1,200) & O3t $200
BRAEHI TR $1.200| B O $100
5 $1,200{FH O $8,000
HiEE $1,200{HO $1,200
K $1.200)5HO & $1,600
05 vay $1,200| £OE $1,800
Prf 4 $1.200{Z1OPF $5,000
PR $1,200)Z£ O $200
PREETT $1,200|FF Ot $100
PRAAFT S5 $1.200[5RO= $5,100
BIxRZE $1.200[FCO $5,000
BB $1.200({FFOF $100
FHH $1,200|1FOF $100
FHOH $1,200)F Ok $100
HOLC $1,200[FBO $100
FOE $1,200) O $500
FOLE $1,200( % OHA3E $100
fLO $1.200|8OF $100
HOB $1,200) B OIE $100
HOH $1,200fit O $100
FIOH $1.200(FR Ok $200
HOE $1,200| O $400
2OHE $1,200| O $200
BIORE $1,200|BE O $150
£0% $2.400|5FO T $200
RO $1.200[5RO&=F $200
O $1,200) 5Oty $300
#®O% $1,200) B O $500
ER O $1,200) R O3 $500
Er O $1.200[FR O $100
#RORE $1,200]% O% $100
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£05 $2.400|EHOFT $100
HEOLUI $1,200|£2OF = $2,000
AFOTR $1,200|ZF O F= $100
BROH $4,800[BRO St $100
HOZ $1,200{ kO $100
w08 $1,200)E 0L $100
TOTE $1,200{IO $100
A Ol $600[ = OKE $100
A O #(] $600|BRO 05 $200
A OZESE $600[ EOHK $150
A O>L $600[FRO%E $150
MHO&E $1,200| B O $150
#OlG $600[HOF=82 $500
MHO&EX $1,200) i O $100
=20 $1,200) 1 O=L $100
O $600[40O= $100
FORK $1,200{50O %) $100
FOME $600[ & O $100
O $600[ O&L $100
E O $600[ 4 OF $100
OB $600|FEOZ $100
T O $600[FROFE $100
TO= $600[=O#h $100
T O $600[EB O $300
F O] $600|H O E $300
TOE $600[ET O $100
£ O $600[ETOfZ $100
H#HO $1.200|1#0OF $100
HOFT $1,200|EHO%E $100
BHOR $1,200|EHO$#, $100
BHOE $1,200| 52O $500
BEHOR $1.200{FROF $1,200
BOH $1.200 (PR O $200
HOF2 $1,200[5FORk $200
£20%H $1,200{#ROEE $200
ER O $1,200|1210O% $100
IOE $1,200| B O $100
ORI $1,200| PO $100
sHORE $1.200 O 5 $100
PROT $1,200{FE ORI $100
RO $1.200HO%5 $100
g O== $1,200|EL O $100
BROZE $1,200|1ZOt& $100
BROZE $1,200|EFO%E $100
BOr $1,200|EOf= $100
ROFEHE $1,200|Z O $100
= OF $1,200[f1 O $100
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=20l $1,200|5EOF% $400
F0 $1,200( 8 Ol $1,000
FOHE $1,200(fHO2 $1,200
BOH® $3,600[EHOFH $100
FOH $1,200(#p O3 $100
BEO3L $1,200[FECOH $500
EOH $1.,200|#RO 2 $100
O $1,200/50O1E $100
FFOE $1,200[BEOE $200
KOH $1,200[ 2O F $100
MO $1.200| 2 O%4 $200
ErOBAL $1,200|FEOZ% $100
HOF A $1,000[EHO%E $100
=OMH $1.200{FROEE $200
O $1,200(BEO( $100
EOE $1.200|BROE $100
SOf#E $1,200| PR O#F $100
SO%E $1,200[5= O $200
= OREIE $1,200|BRO#F $400
=OfF $1,200(Z=Oligg $400
=OH $1.200|FROF $400
PROZER $1.200| BB OFF At $300
=05 $1,200(50 0% $300
207t $1,200)8 Ok $300
EROH $1,200(EEOkE $300
=0 $1.200|EROZF $600
BHO% $1.200/FFO % $600
RO $1,200|5£ O $600
HOA $1,200| FO® $200
HOKL $1,200{ FO $200
EAOFES $600[ = OF% $200
MO $1,200[EO B $400
HO% $1,200[ FOf $200
TOFH $1,200{ FOF $200
FO%E $1,200[FEO $200
20= $1,200| FO% $200
1% Ol $1.200|=OF $200
i OBk $1,200{=OH $200
SOE $1,200[=OH, $200
SOth $1.200|m O+ $500
HMOE $1.200[E O H4E $500
INNS=EZEL A T A $6.000| ot 28 4= T & $10,000
BEO $500[AROBE $5,000
0O $2,000|#AO & $1,000
FOT $2,400|EOFE $200
FOT $2,400[FEOFK $200
PR O UM $1.200|f O $200
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KO $500]F O $200
BOE $60,000[EPO i $200
HOE $100[BROH $200
FOHE $100[FRO1E $200
O $100[BROF $200
HOME $200[FRO2 $200
ZOF $1.000[FROE $200
FO%H $2,000|BR Oz $200
B OF- $1,200|BRO4F $200
HORAEIZR $100[ZFO1& $1,000
HOLE $100[#EOpkL $1,000
21077 $100|PrO%E $7,000
EHOM $100[Er O EERIZ $800
BOfS $300|122OF $500
FOBBER $100|EO%x $1,000
FO# $100|E=OH $300
BROZ $100[ 4 O F Bk $1,015
O $100[F=OF $1,200
iR OB $10017EO%s $15,000
ZOREE $100|E= O $400
HOz= $100[B1OF5 $600
s OflIfE $100[#RO 5 $2,000
Ot $100[5O= $100
FOHE $100|Z2O%# $100
TOHD $100[BO%x $200
TOX= $100[2O% $100
1O $100|12E O= $1,000
EOE, $100|EOfF $1,000
TOHZE $100[EEOE $10,000
=OZE $100|2IOF $1,000
MO $10,000]| £ O $1,000
HOR $500| =05+ $500
BB S $2,000(t5O= $1,500
AEOE $500PTOEE $500
WOk $1.200|22O% $100
s O $1,200){f O $500
g OB $100|Z O $1,000
ZOR $100[fT O 4 $300
PROIE $100a OFE $1,000
fiti OF $100[ EOAHD $500
O $1,200|5E O $1,000
BROZR $200[{TO4E $300
TOZEZE $400 &k O ¥ $300
T O $200[FEOE $300
BROE $150[=OF $500
=ONE $1,200[#O7= $3,000
ZOH $200|E= O $1,000
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TOT $200[ 5O $500
RO¥% $300[EROFE $1,200
ROSHE $400[EFO $500
SOt $300[FL Ok $100
RO $500|F O $100
BROME $500[= O $1,000
BROZR $100[FO% $500
GO $100[EOE $100
sHOH $100[FEOH $100
BIOHk $1,200|FE O $100
=10 $5.000)E O % & $2,200
ZF O % $100[#RO e $500
BROSE $100[#FOFZ $500
H=O $600[HEOI# $1,000
HOHE $200[fO = $100
O $3.000[Ex ORI % $1,000
POt $100[#FORd $1,600
E=OX $100[#O=TF $2,000
BIOH $100[FEOHH $2,000
s O $100[#FOF $2,000
BORE $10,000[ &k OE $10,000
s OFF $1,200) ke 5 2= $11.449
PROEE $200|E=O= $100,000
BROH $200[#FOF5 s $5.000
BRORL $200 [ O $500
FOHE $150|2IO= $1,200
BROZE $150[ & OB $100
BROZ $1S0[HOE $100
BROFH $200[FRO1E $100
BROE $200[ ORI $100
OB $200[BROZK $200
AEOFEH $500(R OF $150
fiE OTE $100/2£0O4 $200
fitt O>L $100[ETOF $200
LO= $100[#OH $1,200
O $100[FIO& $1,200
g O $100[ 52 Offg $300
g O/ $100[FROFE $500
2OZ $100F O %k $500
FOZ $100fH O $100
RO $1007EOTH $1,000
e O $100[ O $100
SO $300[EHOH $100
HOEE $300|ZF Ot F= $100
s Offi $100[fR Ot $100
BOT $100[#E Ot $100
EHOH $100[F=OL $100
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EHO# $100|21O# $100
PROER $200[z= ORE $100
OZ $200[F O K& $200
P OB $200( P O $200
P O $6,000|FRORK $200
@) $200| EO#k $150
RO $200|FHO%E $150
RO $200|FEO % $150
ROE $200( P OFH $200
PROZ $200|FEO3iE $200
PROE $200[52OF $200
P Ol $200[#5O%Y $200
PRO4Y $200[;EOEE2 $500
RO $500(}E OTE $100
P Ot $200|HEO=L $100
FFORK $200|142O% $100
OB $200|EEO %) $100
ZOE $100[ 8 Ofég $100
PR OZ $100| & OfK $100
RO $100| O $100
HOZ $600[FEOZ $100
FEOZE $1,000|FHOFE $100
HOE $100|=FHO%t $100
EORM $100|ERORE $300
O $100|EFOEH $300
PR OE $1,200|FOfii $100
O3 $1,200[5FOf& $100
RO $200|1%5OF $100
=OIH $20,000|EO%E $100
O $1,000[EHO$4 $100
P OFAD $200| 2O $500
O $1,200[BR O $200
#HOBE $1,200[5FORK $200
O $1,200|1 ROk $200
#HOtm $1,200(21O% $100
PR O] $1,200|FEO % $100
B O $200| R O4H $100
FLOFH $100{FHO%E $1,200
FO $100iEOE $100
HHOF] $100|EEOHN $100
7O $1,200);H O $100
O $100[#5 0O T e $1,200
PR O $600|ROE $1,200
#=OH $500|ER Ok $1,200
MO $100|fHOE $1,200
EOE $100( % Ot $1,000
HORE $2,400]FEHO % $1,200
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BOE $200[FR Oz $1,000
RO H % $3.000PTOETE £ $200
CAOE $100[FROHB $200
O $200(#% Ol $200
EHOGE $100[EAOFH $100
BROE $200[E O $100
RO $100[Z= O] $500
BROE $100[#OE $100
BRO#E $100[/FO15 $100
BRO% $3.000|E= O $1,200
MHORE $2.400[z=O%K $1,200
BHOLE $1.200[BHOE $200
F O $300|=OE $100
H ORI $500[52 Ot $200
LR e AR E] $2,500| R OZ $500
E AR E $2,400[EHO%E $100
B R A RN E] $3,000[FEOEE $200
70 $1.200[FROA= $100
GIOES $1,200[FEOE $100
HEOHE $1.200(FRO#F $100
i Ok $1,200| %O $200
ROE $1,200)45 O H i $1,200
B OF $1,200{E= 0O $2,400
RO $1,200|1 8O $400
FO/E $1.200[# O $400
ROFE $1,200[5R O $400
=0O%+ $50[Z£ Ok $400
PROZE $450[ZEOBE $400
EOH $1.200({FOZE $400
FOuk $1,200)# OF§ $400
RO $1,200|BHO%E $400
ROE $1,200| O A $400
BROZE $1,000) 7 O $400
RO $1,200[#OF $400
RO $500[20= $400
HOHE $200[ZIOH $400
AROEL $300[ETOEE $400
GOHE $1,000| EO#= $900
g O $1,000) B O % $100
BEO $1,200) B O % $100
MO $10,000|FBOHE $100
PRORE $500[ O $2,000
BROEY] $1.000|fH O $100
BROIEE $600[ O $100
O $600[FRO#h $100
BEOBH $600[FRO#h $100
BROZE $300|FF O] $100
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BRO# $300|{AOEAER) $100
o B R R A IR N H] $1,200[FR O $100
HOE $1.000[FRO $100
O $200| EOH $900
FORMH $800[FOF $100
BEO% $1,000|BOFF $100
HE O $200[EOFT $100
AHOENA $200[F Otk $100
MORE $200[FROF* $100
PO $200[BROF* $100
ROSF $200[7=OF $100
HFEOH $200[7= O $100
RO¥% $200[FR O $100
RO $200[BR O $100
ROEB $200 | O $100
O $200 | O $100
RO $200| EOH $100
FOZ $200| £ O $100
RO $200[FROJE $100
#ROH $200[FROJE $100
MOE $200[FR O $100
RO $200[FROfZ $100
HEOX $200[EFOi% $100
ROz $200[5FOi% $100
ROHi $200f O $100
i O $1,000) B O $100
HOR $6.000[FFOE $100
FOAED $500)5FO=E $100
£0% $500[EFO f, $100
O $500[EFO f, $100
MOEE $2,015|5FOF $100
BIOnE $300[5TOZE $100
HORE $300|#EOIE $10,000
210 $300|#EOIE $10,000
RO $300|#EOIE $10,000
BIOH $300|12208 $1,200
BROE $300[ZFOFK $100
BROZE $300[ZFOFK $100
=50 $500] 5 Oz $100
RO¥ $5,000[2E=O & $100
sTOF $2,000{FBOp2FE $100
TORE $115[FOF: $100
£0% $100[FO#: $100
B Oy $20,000| O $500
BOH $1.000FEOF $100
75 e ZER (i A IRV E] $1,000)FE O $100
MO $2,000) 2 O3 $500
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PROF $5,000{ 52 O7K $10,000
SO $500| 2 $1,200
O T $2,000) /D $1,200
FOBR $100)7 THESE $1,200
ZO¥G $1,200) 5K $1,200
sTORM $1,200| 4 NHZ $1,200
O $300| 2 Ak $1,200
BRO & $300|aFER $1,200
ZOlig $200| {258 $1,200
BROBY $10,000| A2 $1,200
FORE $100|/HFEZ $1,200
HO $5,000[ %% $1,200
FOM $100) & 2 o $1,200
ZOTR $100[FRHE $1,200
#Ola $100[2-JpitEE $1,200
O $100|HRHST- $1,200
ZOLE $100| % HE $1,200
ZOMF $100| %2253 $1,200
£ZOH $100) 5225 $1,200
=0% T $2.400) &2 $1,200
FOH $100| s $1,200
#HOT $100[Fia1a $1,200
MO $1,200|## 52 & $1,200
OB $200| EF=E $1,200
Ok $100| s [ fif $1,200
= OF $1.200 | £ $1,200
ROEH $300[ 7<% $1,200
HROSEF $300|/ LFH54= $1,200
£0 $200[ L& $1,200
ZO% $200[/ A= $1,200
ZO® $200|#kStiEE $1,200
HOE $200) LI $1,200
ZOR $200| =L $1,200
FHOE $200 | B A $1,200
ZOf%k $200 BRI $1,200
HOZE $200| BRAB I 552 $1,200
AHO $200| 5 5= $1,200
BOE $300 | Fa 45t $1,200
#®O2 $1.200(FREETT $1,200
RO $200 | BRI S 5K $1,200
2IOB= $200[ 2 O% $700
BOZE $300| % Ot $700
PROZRE $1,200{ % OF¥ $700
BO=E $1,200{% O1H $700
FHOFIE $100[& O $700
FOi $300[E O $700
FOx $300] & Ot $700
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ZOtR $300|EFOHE $700
HO &2 $300{= O $700
AfO= $1,200({EFOFE $700
i OHA $1,200[EFOfE $700
BO= $1,200|1#RO%& $300
SO $1,200| 2O $300
EOHE $1,200|1 RO $300
MHO¥XE $1,200|1 RO $300
AOE $1,200[ZF0O1= $200
O $1,200|&kOFE $5,000
Z0#8 $1,200|1450%F $200
SO $1,200( 0= $1,000
BOF $10,000| EOM $500
=0O%F $2,000| 82O $100,000
SO T $1,200[ 2 OF $500
HOHE $1,200[ft O $1,000
RO $1,200 A Off $200
RO $1,200[55OZ $500
HO& $600|E£ O EREIZR $800
BHOZE $1,200|12205% $500
PR OB $1,000[EF O #E $500
g O# $1,200[E Oz $1,000
HOh $2,400[BRO1& $1,000
A OF5 $1,200[ =0+ $100
ZOE $1,200[FE O $1,000
EO2 $1,200(F O $1,000
AOE $2,000| 22 O3t $1,200
SROE $1,200[FEO $5,000
HOF $1,200[&= 0= $2,000
F Ok $1,200|EOF $2,000
OBk $1,200| = O#F $500
BXOFE $1,200| = O $200
= OE $1,200[FO= $100
PROAL $600| RO $3,000
BOM $100[ & OFHl $600
ZO5 $1,200[ FE O $2,000
BOF 5 $1,200[ =01 $500
RO IH $1,200|ZO HER $50
OB $1,200|FHOE $500
O $1,200[5FEO% $5,000
O $1,200[FEOE $500
2O $1,200|H O $1,000
HOZE $1,200[5E O $1,000
HOF $1,200| EOH $600
BMOE $1,200[&= O $500
ZEOF $100{FHOF5 $2,000
BO& $1,200|1 RO $50
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O $1.200[EO5E $300
BOE $1.200|1#k O $50
RO $1.200[=0 $500
01 $1.200|1ZOH $100
BROWS $3,600| R O%E $300
=0 $1.200{ T OtH $600
T O $1,200) 5= Ol $300
TOZ $1.200[E Offit $1,000
=0t $1,200{52 O $250
AOLE $1,200| B O $100
RO $2,000| 2 O7% $500
=OHH $1.200| B[ 2ot $20,000
BIO% $1,200 75§ f SR A TR/ ] $500
HOF $1,200| = OZ R 5 $20
RO $1.200[z=OZE % $1,000
s OHk $1,200|BROF $300
RO $1,200)+O 4= $115
BROE $1,200[FEO H $100
RO $1,200|FO%% $500
T ORE $1,200[#H O $2,000
MO $1,200|5002 $5.000
sTO%& $1,200| PO $2,000
FO% $1.200[HEOHE $20,000
H O $1,200[ & Oifl = $600
i O $1.200{#tOtt $10,000
BOR $1,200|E OtF $600
O™ $1,200|FO%E $5,000
£O38 $1,200{BROEE $2,500
HOME $1,200[#5ORE $1,000
O $1.200) ¥ OF $400
= OB $1,200|1 8 OF $1,200
BROS $1.200{52 O )i $2,500
HEOK $3,000[AEOHK $1,000
O $3,000{#%OF $4,000
EO=% $400[AROLa $300
EO% $400[E OFE $800
i e $10,000[#AO%E $1,200
wiEE $1,200|= Ot $100
BOHE $200,000|5=O7F $100
£0H $1,250) &= O $100
BROTK $1,250[15O 77 $100
£0f& $1,250|FBO=E $20,000
£0= $1.250|1 PO $600
BEOfF $1.000) O M B $10,000
= O% $1,000) /i O % $1,200
£ZO%E $400[#7OLL $1,200
HO4 $1,000]BE O $1,200
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HFOR $600|PEOEE $1,200
HOE $51012£0 $1,200
£0% $100[ER O $10,000
O $5,0001it O 75 % $1,200
sHOE $200|5=0 $600
sHOE $200[E O $200
BROHE $500 R OFK $200
BROHE $500[fROZ $200
EO1E $300[FR OB $200
RO $1,200|ZF O $200
ROZ $100,000{FRO %5 $200
FOH $200[ER Of& $200
sTOf2 $100[BROF $200
MHOEAE $200[FRO2 $200
E O $10,000{FEOE $200
BROTE $200| RO $200
BROSE $100[BRO4F $200
BROSE $100[=OZ $115
O $5,000|/HOREE) $2,015
HOR $5.000)1FE O3 $2,000
BRORE $1.000|1 O $2.400
RO $1.000[Z£O# $200
RO $1.000[2£O % $1,250
=0% T $200R OFK $1,250
=OE $100|122OE $1,250
=OB $100|12EO= $1,250
HOHE, $500[#FOF $1,200
HOHE $500[BIOF $1,000
w=Of $500[Z£O% $100
w=Of $500[ft Ot $500
FOEL $100[fAI O4= $300
ZOR, $100[2£O%k $600
PO $200[2£OL $600
2O $200|E= O $600
HOE $200|21O% $5,000
PO $200[FI O $12,000
MOLT $200[EH O $200
FOH $200| R OHE $500
MOE $200[=OF $5,000
HO1E $200 | O $1,000
Z0E $200[#FOFf $500
MHO%E $200[m=O4 $500
£ 0% $200[F O $500
£OWE $200[ T O% $600
O $200[ T Ot $400
HOZK $200[fROF53E $300
RO $200|H O P4 $100
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RO $200[H O $200
BEOZEE $200/f OF $100
BHOZE $100[ARO1H $100
£ZOH $100[#H O $500
BEOW $100[ 50O $200
BOH $100[#B O $200
FOE $200[#BOHE $200
BROE $200[FEOA $100
FOF $200[EEOZ $100
BROHL $100[#A#O#H $500
MHO% $100[ RO &L $100
HO®% $300[ERO%K $1.000
HO®% $300[HEOMK $100
FOE $500[ & Otfg $200
FOE $500[t5OF $500
s OIESK $12,000|EH O & $200
JTOx $100[FLOH $100
JTOx $100) TOZEHE $1,000
JTOR $100[HEOA $100
JTOR $100[ O $100
TOE $100[FR Ot $100
JTOE $100|B8CO% $500
JTOE $100|FOFE $300
JOE $100[FFOF( $100
B O $100[RO% $100
B O $100[AROHIL $100
10= $100[FEO=E $100
10= $100[#EO1= $150,000
TORE $100|ROF $100
TORE $100FEBHE $322,220
T Ot $100[EBOR $100
T Ot $100[FO1a $100
TO¥ $100|HFOZE $100
TO¥ $100[E O $100
BIOZR $200[EF 5 $100
RO $2,500 [ O 5 $100
ZOuk $500[FEORK $200
ZONR $500|HOf= $5,000
i O $100PTOZE $5,000
HOWEIE $100[E= ORE $300
FEOfE $100[FO# $1,200
SO $3,000{IOF5 $700
BRO B $300[#FOFEAL $50
BOFE $1,000[# OB $50
Ok $2.000|#5O W $500
MOEL $50[ZFO%E $50
PO $50|FOFEHD $5.000
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MO $200[ZF O $50
PO $200[#ROZE $50
RO $1,000|121O4p $437,000
AROTH $100[#F O $5.000
O $500[#FOF $2,000
HOF $500[BEOH $500
HOE $100[ O $1,000
HOE $100a O $1,000
O $300| HOH $2,400
O $300[FEORH $10,000
O $200[EFO $500
O $200[EBOE $300
SO $200[FO% $1,000
SO $200 | Fal FH oK I $26,200
FEOM $100[EHOHE $200
FEOM $100[BROUE $500
BOZ $100|PROZE $1,200
BOZ $100[ = Oz $200
SO $50[fROF5 $300
SO $500[BR Ok $300
E O $500[;E O $300
21Ot $500[;&OTT $300
2O $500[E=OFE $300
HO#H $500[FROF $100
HO#H $500[=OF $5,000
POH $100[/FEO®E $1,000
PROB $100| PR O $1,000
g OFii $100[;EO T3 $300
ROk $1,000|HEO%f $500
RO $1,000{=O4E $500
RO¥ $100[ER OBk $300
HROE $100|1FOFE $500
#ROE $600[ T O% $100
#ROE $600| I O $100
HORg $200| T O $100
HORg $200| TOFE $100
BOF $500[ZO1H $100
BOF $500| T O= $100
FEOME $1,200) T OFE $100
O’ $200[ T Ot $100
HO® $200| EO¥ $100
=OH $3.000[#5O% $200
O $6,000| = O= $400
BOE $300[BROZK $400
TOT $3.000|1O=% $200
RO $2,200|#H OFE $200
HOHE $100[FHOBE $200
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ZRRes AR E] $500[t5 O $200
e = S A PR N 5] $1,000{ZIOEE $200
e = S A TR N B $1,000[FOE $3.000
&R & $5,000|EO# $2,000
L $5,000[FRO 75 $300
fe JEBT $5,000[#H O 45 $100
% TAEAT $5.000| RO $300
MR E TR $5.000)47 O $300
HOE $1,000[# O $200
BROE $1,200| EOAIHD $500
OB $1.000) O $500
PO Hi i $600| s OF $100
e O $1,200) RO $100
#FO¥ $200[EO $100
OB $10,000| £ O $100
FOH% $1,200[{T O %k $300
BOH# $8.000FEOE $300
O $7,000|# O $500
sROMEE $4.000|#EOZE $500
RO $4,0001 50 $200
BEOM $8.000| 41O $200
=50 $200[#BOHE $200
i OB $200[FEOFA $100
OB $1,200[8OFF $100
MO $1,200|= O $500
MOFE $1.200[ 02 $100
MOFE $1,200[21OF5 $500
A OAE $1,200| O # $500
HO%H $1,200|1#OR% $1,200
i O $200[ RO &L $100
i OFF $200[ERO%k $1,000
AO*% $200[ & Otfg $200
Ok $200[t5OF5 $500
O $200[E Of& $200
O, $200[F O $300
E=ORP $200|FO%z $300
EO% $200|1FO1& $300
LOZ= $200[#O Je $300
HOFF $200[FLOH $100
= O $200) TOZEHE $1,000
= O $1,100) 1 O40 $100
=HOH $200[#F O $100
= O $200f Ot $100
EHO $200|58CO% $500
=O= $1.200{ZF O $300
£0O8R $200[FF O $100
ZOF $200|ARO% $100
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BIOZ $200[ AR OHIL $100
RO $1,200[ 5 O $1,000
ZOE $1.200)1220%] $1,200
Z0O $200[FEOH $3,000
fiti O $400[EFOZERL $3,000
ROBL $200|52O% $1,000
RO $200[/5OZE#HD $100
RO $200[RO5E $100
RO $200[5T 753 $2,500
RO $200|FF & $2,500
RO $200[7&O $5,000
EIEFE SR $200[FEEO5E $1,200
+O=E $60,000|FBOHE $100
LOHEE $200| &k O $2,000
HOE $100[ZBOR $100
FOHE $100[BROZE $300
H O $100[£8OF $100
HOBARBIZR $100[FO Tk $100
O $100|122OF $500
[ @5y $100[fROF= $500
EHOH $100| EOZE $200
BOfS $300)Z O $200
FEOBEMZ $100[BBOZE $600
EOF $100[BBOZZ $800
BRO3 $100[BBOF5 $600
F O $100[BBO#E $600
FR O $100[BBO 58 $600
ZOEE $100[BBO 58 $800
HOz= $100[BRO#E $600
s OflIfE $100[BRO=E $800
TO7C $100[=OF $100
FOHE $100| EOZ $300
TOHD $100| EO#F $300
TOX= $100] &= O $5.000
HOX $100PTOEE $200
HEOE $100|f OF5ES $1,200
TOHZE $100[FO= $1,000
O $100| £ O $500
BROET $200|FEOE $1,200
ZOligg $200[ O $1,200
RO $200[fr O $1,000
FOWH $1,200)B O $1,200
FOFE $1,200[E O #E $500
H#HO $500[EOE $1,000
GOk $4.600 O EEk $1,015
FROET $500[FR O1& $1,000
A OF $500[ZF O $800
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HOR $1.000) PO $4.000
EOH $1.200|=0O%F $100
BO2 $1,200|1220O= $600
fitt OfE $1,200{52 O $600
fit O $1,200) &= O $400
BHOm $300[21OF5 $700
EO $1.200|2£O % $1,250
21O $100[BRORK $1,250
£ZOH $100[Z£O& $1,250
MOBEER $500|12EO= $1,250
O $200|E= O $200
EOM $500[3EOF $100
BEO= $2,000| RO $3,000
O $1,000{ =0+ $500
O $1,500[BHOFE $2,000
O $200[f O’ $500
O $2,000| EO=E $300
HO{ $5.000|EOH $100
LOZE $5.000)+O4= $115
ROZE $500[BRO# $100
£0% $500[=O & $500
it O FEER $1.015|FFOE $20,000
fZOA $300[2£OX $1,200
s O $300[FHOMHERIZ $500
=0% T $100[5F O $500
tROZE $600| B E fhECE T $20,000
MHO& $600 O $500
AOE $600 O $300
FO75 $500[ & OB $100
HOE $3.000|8OF $100
O $100[BBOFl $300
Ok $100|2=Olig $300
gO& $250[FRO1E $100
HBOE $100(% OF $100
PROAL $600 R O $200
FO1H $1,000| EOFEE $400
O $1,000{ O $200
£ZOH $100[BROF $150
BROE $500[5TOF $200
£0 $500[ = Otfg $300
TOH $300[FROFE $500
HOH $100|F O %k $500
MO $2,015[FR O $100
ROk $300[ O $200
ZOR $1,000|EHOFT $200
BO%E $100|%= O+ $500
PRO$E $100[ZFOH== $100
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FOME $100[fR Ot $100
e Ok $500[#E Ot $100
FOHE $500[F=OL $100
TO= $500(21OA $100
w0 $1,200) &= OKE $100
it OF & $1,000|B0OF $200
fit O $1.000{EOHE $150
e A TR H] $7.000) B O % $150
75 e ZER i A IRV E] $500[BROZ $150
FHOtE $200[OF=s2 $500
ZO=E $1,000) i O $100
TOE $100[EOL $100
FO4 $100|&cO=F $100
=0T $500[BBO %) $100
Ok $1,200( % O $100
FORMH $800[ O&L $100
HOHFES $600[ 4 OF $100
BROTE $1.000[FEOZ% $100
=OR, $500[FROF $100
OB $1.015|&O%, $100
BIOF $1,000|Z O $300
HORL $300|H O $300
OB $5,000[5F O $100
BEO® $2,000[5FOE $100
BEOR $2,000|#OF $200
BOYIE $500[EHOH $200
OB $100[EHO#4 $200
TOF $100[52 O $500
s O $100FR O $200
Ok $100[ETORL $200
EOH $100[#F Ok $200
T O $500[21Of% $100
BIOE $300[BROZ $100
OB $300[#FOHH $100
BIOKE $300[HOE $100
BRO% $300[H= O $100
BIOHE $300) O $100
BROE $300[HOE $520
PROZ $300[7ROF% $400
wOHG $500( & O $1,000
FOPE $200[7ROEH $200
B0 $300| 7Ol $200
ZO& $5.000|1# O $300
HOtE $10,000[EOHE = $700
BHOREAE $10,000|#HOH $700
FHOET $5.000|EHOF $200
O $200[EF O $100
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I $2,000)FE O] $500
O $1,200|1#FO%E $100
BO53 $1,200|121O%E $200
B0 $1,200[F1OJEE $200
=50 $1,2008 016 $100
IO $1,200|B8O%E $300
PROZE $100|1BHEOE $200
PROZE $100|5=OE $100
HOSE $3,000) 52 O%#, $200
HOZE $2,000[=ORd $1,200
sTOSEE $1,200[EHO%E $200
TOXS $1,200{FROEE $200
FROHE $100[PRO= $100
BRO#% $100[fRO=E $100
BRO#% $100[fR O $100
FOME $100[5=OF4 $200
= ORB $3.600|FHOH1 $8.000
w Ok $1,200{FHOH $8,000
BOE $1.000{BBO%H $300
FO%E $1,200)Z OB $1,000
BROE: $100[Er O EERIZ $800
BROE: $100|122OF $500
FOH $2,000|E=0 &, $1,000
BEOH $1,200) Ot $2,015
BRO3 $3,300[t5O & $145,000
#HOT $100[#0O H 9 $400
RO $1.200{ZIOF $1,000
FHOTk $100|HE=COH $1,000
AEO5E $1,200|=O#F $500
Ot $1.200({FPOBF $510
O $1,200|F O $200
AE O $1,200) B O % $100
=0%F $15,000[FROF $3,000
RO HF $1,200[ FOFE $200
AEO#K $5,000| O $200
ZFO58 $600[FOHK $1,200
PO $2,000) B O$#, $100
BO $1,000{z= O/t $300
BROF $100[fROL $100
PROT $100|180OZ $1,000
FOuE $1.200|1#E O3 $2,000
w=O% $1,200)5£O% $1,000
PO $300|EOfF $1,000
O $100|22OFk $600
O $100[ft Ot $500
PROEE $100[FROF* $100
PRO®E: $100| 2O $1,000
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RO $1001a OFE $1,000
RO $100[z= O $100
T O $100[FR O $100
T O $100[FR O $100
BROJRE $100[ OB $100
BROJkE $100[FROLE $100
RO $100[ER O $100
RO $100[EFO% $100
s O $100fR O $100
s O $100[ETO*E $100
BROZ $100[EFO f, $100
BROZ $100[5TOZE $100
sTOFE $100[#FOFEAL $50
sTOFE $100[#FORd $50
sTO = $100|#H OH $1,000
sTO = $100[EOH $200
sTOE $100| EOH $200
sTOE $100[=O#h $200
PROUNES $1.200[=OH $200
PO $1,300|E= O $200
(@5 $1,300| PO $50
O $1,300| Oz $100
PROZ $1,300| Oz $200
HOE $1,300{F O $100
PO $1,300{F O $200
HORE $1,300|1#k O $50
BHO— $1,300|1FO%E $50
MONkE $1,300)B O $3.,600
MHO= $1,300|BEOF $1,200
BOF $1.300|RO% $300
BEOF $1,300( 5O $500
BOE $1.200[FH O $500
FHOFIE $100[FR O $200
HOFIE $1.200|FOZ $100
BRO% $300[HEOMK $100
fitt O $300[HO% $500
FO¥E $300|ZFOFd $6,000
=5 ORE $300[FOZ $500
FEOF $1.000FEOF $200
AEO%E $2,000) T O $200
PO $500[ZF O $50
O $1,200|= 00 $1,500
O $1.200|122O% $1,200
=OIT $1.200{FO= $10,000
=OMF $1.200| FEMR I F $12,000
POSL $1.200) FHE BFE $5.000
=0 $1,200| 47z (b SELE $5.000
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MO $1.200[=O% $1,000
FROR $1.200|22O% $200
FOF $1,200) 5= Ol $300
FOEH $1,200| POt $100
O e $1.200{£:OF5 $100
= O4L $1,200{F O $500
=OH $1,200[EHO I $200
O $1,200)BROHE $500
=OS $1,200F Q& $6,000
w0 $1,200)$8 O &%k $2,000
PRO$E $1.200[FRO 5% $100
RO $1.200|E=OF $5,000
BROE $1,200|ZF O $100
= O~ #h $1,200|1ZOt& $100
FOH $1.200|EFO = $100
RO S $1,200|EOf= $100
BOZ $1,200|E O $100
BRO®IEL $1,200| PR Ot $1,000
BROAN $1,200{ =0+ $200
BROME $1,200|EO%h $500
BROSE $1.200 [T O $100
it OFd $1,200{=O%E $500
FEOF $1,200|F O $500
HO¥ $1,200) T O $100
ROt $1,200[ T Of= $100
SO $1,000] T O $100
O $500[ T OFE $100
FAOBE $500[ZO1H $100
BIOE $500| T O= $100
BO% $500[ T O $100
O $300[ T Ot $100
FORH $300[EO¥ $100
F O $200[5O= $100
H O $500[BO%x $200
O $500[7R O $1,000
it OBl $20,000|2£OFE $100
i Of $30,000|EEOH $600
BO& $500[ROF53E $300
RO $10,000[FH O $100
O $500[#FOF= $200
HEO $500| EOAEHD $500
OB, $500[f OF $100
FORL $600[EFOH $600
MO $10,000| A& O%H $100
R $10,000|# O $500
B $9.000[750 $200
ROHL $300[#BOEH $200
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$100| BB OB $200
$1,000[FE=OM $100
$100[=O3E $500
$100[EEO2 $100
$500| 4O $500
$500| 2O $500
$200|EEO1E $5,000
$200[FRO $100
$2,000|FBOAE $1,200
$100[FRO%k $1,000
$100| & Oty $200
$1,000[#50O55 $500
$300|E Of% $200
$3,000[FOH $100
$500 TOZHE $1,000
$1,000 (O $100
$300[FROZE $100
$1,000|FEOIT $100
$500{BEO%3 $500
$500|FEOE $300
$2,000|#ROF(] $100
$115|KO%k $100
$100| ROl $100
$100|£OF $100
$100|25O $135
$100[fHOF $2,000
$100[/EH OREAE $200
$100[BHOIN $120
$900 5 #2 R AR A H] $500
$100|FETEHE E kS $11,200
$100|FEO & $1,200
$2,000{FRO%F $6,000
$100[FRO % $1,000
$100| 52 O%% $6,000
$600[FRORK, $1,000
$2,000| = OJR $100
$200[FHOHE $100
$2,000| == $100
$200[F=O1= $100
$600| = OF $100
$200|ZOte $100
$200[fHO S $100
$7,000| & Ol $100
$300[=OE $100
$200[=O1E $100
$200[FRO 3k $48,000
$200| = OB $100
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TOAIED $500[FEOME: $200,000
PROX $200| 4 ELE A AL & 1A $45,000
BIOF $200[fT O 4 $300
BIO%E $200[FEOE $300
2OF $200[HOZk $50,000
SOt $1.200[FROFEE $1,000
KOS $300[£5OFE $200
=50 $500 O $400
HEOF $300[=OLE $200
FEOR $300[E= O/ $200
FOE $300[= O $200
HEOz $300[tOF5 $200
OGN $1.200pTOFE £ $200
BROZE $1,200[FROF5EE $1,200
BOm $200[FO= $1,000
BOZ $2,000[FrOF& $1,000
BROZAL $800 | Ot $1,200
£0% $1,200)B O $1,200
ZOERK $1,200|5RO 5% $500
ZOW; $1,200|FO%z $1,000
O $1.200[fOEEk $1,015
SEOmEL $1.200|H3OFE $3.000
HOHE $1.200 (PR O $1,000
@) $1,200|BEOBH $500
BO= $400[r O $100
PROZK $400| =0+ $100
a0 $1.200|18O2 $1,000
BHOE $1.000[z=0O $200
BRO fi $1,200|ZIOF $1.000
FEOR $200| kO $2,600
RO $500| 2O $1,000
MOFEA $50|BRO & $500
O $50[5=OF A $3,000
RO $200| EOE $300
O $400[=OF $500
BO= $200[EO = $100
O $100[RO% $300
#OlE $100[FO#h $1,000
O $100[FROEF $300
2O $100[FOBE $510
O $100[HEO58 $1,500
£Z0OH $100[#OF $500
FIOF $100[FO= $100
PEEEARAE $60,000| LOF $125
OB $200,000{ FOH $125
w=OR $100| EO*% $125
wOE $100[BBOE $125
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s O} $100[FROZ> $100
=OC $100[{T OB $900
s O% $100[#F O $500
RO $100|£5 O $500
BROZ $100| Bk E FhECET T $20,000
s O $100[H O $500
w06 $100[ & OB $100
=OME $I00|EOE $100
=OR $100|BEOIE $100
FOit $300[ ORI $100
FO% $300[BROZE $200
FO1E $300[BROE $150
HOE $300[5FOT $200
EERG) $300,000{ 5Ot $300
POHE $5.000) B O $500
EOFHD $500,000 B O % $500
TOE $1.200[FR O $100
FO1&E $1.000[ZF O = $100
Jifi O AL $1,200|{BRO St $100
fifi OF5 ({0 $1,200{ kO $100
2IO& $1,200)E 0O $100
O $300[21OA $100
BEOBH $500[E= OKE $100
F Ot $400|BRO 05 $200
F Ot $600[ EOHK $150
£0% $300[FRO%E $150
O $300[BROZ $150
EOMT $1.200);E O $500
BIOF $700[HEOIE $100
FOmER $2,000] 1 O=L $100
(@) $200|&C O=F $100
2014 $1,250{50CO %) $100
BROTK $1,250) % Of# $100
£0f& $1,250(% Ot $100
£0= $1,250| 8 OF $100
O $200[HO%% $100
BIO# $1.200)B OF& $100
EEOM $100[=O#h $100
EOMH $2,000|E O $300
FOE $3.000| B O $300
EOF $1,200[5F O $100
w= O $1,200[5FOE $100
TO& $1,200| 52O $500
TOFl $1,200(BRO & $200
BOE $1.200[FFORK $200
TOk $1,200{#ROEE $200
#HOE $1.200)121O0% $100
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#HOH $1,200| B O $100
O $1,200| PO $100
O $1,200[HO & $100
O $500[FEORI $100
FOHE $1.200[HO%5 $100
AOBE $1,000( % Ot $1,000
RO $1,000|Z O $100
w=OE $500[F= O] $500
FEOR $300[#HOE $100
FOE $100|1BHEOE $200
#FOJH $3,000[%=0O% $100
TOT $3,000) 52 O%#, $200
=0% $1.200(FROEE $200
BOZ= $3.000)B O $100
HOHE $5,000[FEOF $100
FELT $1.200(FRO#F $100
6 fe o HE A AR 15 5 $123,542|2 Ot $200
EHOLE $200| O+ $100,000
BROHE $500(fR O $200
BROS $100|FOF= $20,000
O $5.000[2£OF $500
RO $1,000[E O #S $600
HOZ) $500[F=OZ¥ $1,200
=O4 $500|E=ORF $1,200
MO $300[=Of& $1,200
FOBE $500[ = O $400
TOXE $100[t5O%E $500
JTOR $100[Z O $200
JTOE $100[EO1= $2,000
JTOE $100|HOF $1,000
B OH $100[7RO%H $3,000
10= $100|ERO#® $100
TORE $100|FHOH $1,500
T O## $100[{LOZ $1,300
+O2 $100|47O% $1,300
FOuk $500[HOE $1,300
ZONR $500{L OFF $1,300
FROFE $300[2OE $1,300
HOWEIE $100|#AEH HESF $120,000
MO $200| EO* $1,000
ROTH $100[Er O EERIZ $800
HOF $500[E= OZREFK $20
70 $200|E= OZ R $1,000
HOE $100[= O $2,015
O $300)EOIH $1,200
HO $200[57= Ok $1,000
SOt $200[z= O#F $500
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FEOM $100[FRO e $200
BO2 $100]+ORAE $115
SO $500[HO% $500
2IO& $500[FO% $500
HO# $500| = OFCFAR $800
POBL $100[ZBORE $100
RO $1.000{FFOR $100
$RO2 $100| RO $100,000
#ROA $600 | OF $200
HOR $200|Z= Ol $200
BOF $500|F O $200
HO& $200[FOF $100
HOH $100[BBO- $1,200
LOZEEE $1,000)F Ok $100
RO $200,000{#FO1H $1,000
EEOHEHED $100,000{ &2 Ok $600
HOSE $1,200]H OF $500
BHOHE $1.200|EOH $800
HOZE $1.200|EOZ $800
FABEA N S ERARA T T RS i $10,000)ZE O $100
£20) $500|E O $700
ROia $1,000{ 21O i $100
HO#EE $800|22OH $100
=@l $600[fR OF $1,200
HOHE $600[5OF $3,000
BROZE $1,000{Jit OfF: $800
ROM $1,200) 1 O $800
ROFE $1.200[EOF# $900
RO $1,200|F O $200
ROME $1,200) EOFFE $900
RO $1,200) B O % $100
& Ofi $1,200) B O % $100
= OE[E $2.400(#5 OO $10,000
BROEY $500[ER OF $7,200
HOR $1,000[FOE $100
HORE $300| EO4 $100
BOZE) $1.000[E£O 7K $10,000
BROZE $1,000{¥OF8 $10,000
BWOH $1,000{EOFF $1,000
w075 $2,000{E OtF $1,000
LOHEE $200[ 5O $100
O6E I ER MRS & $28,660| {7 O $100
EOESS $1,200{50 O $100,000
T 755 $250| RO $100
TR $250[FRO#h $100
A O $200[#mORE $1,000
s OfH $200[#ORE $1.000




MEEANSETRAIDFEHEENESE

O6LERREUS
241 i E S X it i L
+O $200|¥E O $100
O $200fR O $100
EO& $100[fROL $100
EO& $100[BROZE $300
=SOHFE $100| =OH $900
=SOHFE $100[B1OF5 $500
BRO% $300[#O 5 $2,000
fitt O $300|2£O%# $200
FO¥E $300[BEOFT $100
O $200[EOF5 $100
iR OAL $5.000[E OfF $1,000
ZO=E $1,000[#HOE $100
HOMBH $2,000|BHO=L $1,200
HOF $1,200{ =06+ $500
frOF%E $1,000{#%OF $4,000
HO $5.000)BEEOF* $100
FORRH $800[FROF* $100
£0% $500[#ROLa $900
HOHFES $600[7= O $100
w ORI $1.010)x O $100
BORE $1,000{BEOHE $100
BOE $400[BR O $100
BROTE $1,000{ PR O $100
fZOA $300 R O $100
=0%F $100[ OB $100
FO75 $200| EOH $100
BO% $300[FROJE $100
BO# $300[FROLE $100
BO#H $300[FER O $100
£Z0Om $300[FER O $100
SEORY $200[5FOi% $100
HOE $1,000|5FO%% $100
BIOFH $600FF O $100
gO& $250F O $100
= O% $1,000|5TFOFE $100
O $200[5T O $100
BROSE $600[EFO f, $100
HOWE $600[EFO f, $100
O $100[5TOZE $100
BIOF $1,000)5TO%E $100
JIOE $300|#EOIE $10,000
RO $2,500{#FO1E $20,000
O $100[5OF $1.000
O $1.000{5R O $1,000
=0%F $500|FH OFF $1,000
HORg $200[E OFE $1.000
wHOFE $1.200{EO&K $100
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O $1,000{FO%= $100
FOEH $125,000| 5= OF $100
BOE $4.000[z=OH $100
OB $2,000) &= Ok $100
O $300| 5~ O $4,800
BROE $500[£505 $1,200
HOL $300[ 2O $300
ZOmn $300[= Ot $300
20 $1,200)1F Ok $100
2Ok $1,200)1F Ok $100
RO $400| 5 Oz $100
FO=E $300|5 O $100
TOH $300| 5 O $100
HOH $100[HEOMK $100
ROk $300[F O $100
PROEJE $1,000|=0O%F $615
ZOR $1.000[#EOF( $1,200
BRO# $100[FHOHk $1,200
0L $500[ZFOftfg $1,200
FEOH $500|FO== $1,200
O $500[7ROF $1,200
FORBEIR $1.010[7ROZE $1,200
EOES $5,000|[EFH= $10,000
HOZR $1,200|#H O, $2,000
Z O $1,200|HOf= $5,000
HOH $1,200TOZ= $5.000
ST $10,000)E= OHF: $600
REE $1,000|ZF O $100
PROZE $100[FO1a $100
BROFX $1,200|EFO%E $100
RO%E $100[E O $100
RO $100|ZFCO5E $100
BROE: $100[/FEO®E $1,000
HOzE $500(21OF5 $300
BROF $100ta O $100
O $100[E O $600
PROEE $100| EO1H $2,000
RO $100a OFE $1,000
T O $100[#5OWIE $500
BRORE $100| EOH $600
RO $100[ T OtH $600
s O $100[#F O $5.000
BRO $100[# O $200
sTOFE $100[H O $300
sTO = $100[ O $200
sTOE $100[5=O% $200
PR O’ $1,200)22OF% $200
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HOF $1.200[Z£ OB $200
HOE $1,200|1FF O $200
HOZ% $1,200)5# OF& $200
BOZE $100,000|BAO % $200
JBO%K $25,000|#H O FA#] $200
BOE $150,000| s OF $200
O $500[t O $200
sTOF $2,000|Z20 = $200
ZOZE $100[#5O %2 $200
EOM $500| = O= $200
g O% $500[BROZK $200
g ORE $500] = OFE % $200
sT O $1,200[#O% $200
#ROFE $1,200[#OF $200
i O% $1,200|#H OFE $200
O $1.200[FHOBE $200
BO $1,000|# O $200
g O $500| & OIE] $1,200
g O $500[#O 2L $1,200
g O $500[m=O%E $1,200
gOE $500|F O $1,200
g Ofgt $500[FEOE $300
HORY $500[FIOH $200
O $1.000[ZFOfE $1,200
w= Ol $400[7=ROHk $1,200
BEOFEE $3,000[5FOFEE $200
wOE $500[EFOH $500
HOH $500[ EOTH $200
sTOfH $1,200) 7 O $200
BIO# $1.200| EOFHH $200
O $500[= O $760
Ok $1,000|&£O1E $5,000
i O $1.000(#O= $1,200
BRO $200[ER O $1,200
HORE $1,00050 $600
TORE $115[BROUA $500
HOEE $500[HEOHK $20,000
BO%E $200[F O3 $1,200
O $200[BBORk $1,200
£0% $100[=OFz $300
TOT $2,000|E= O $5,000
FOLE $50| RO $1.000
75 e ZER (i A IRV E] $600[ O, $500
FBOFER $300[FHOFk $1,100
BRO B $2.400) & O4= $500
#ROFRE $1,200|F O $500
BROBT $300[FH OB $600
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HOHL $1,200) T OZ% $600
HOLF $2.400) T O%# $400
HOZFE $20,000| Ot $2.400
HO%H $1,200{ IOk $200
BEORF 1 $400| 2 OFES $600
ROz $400|F OBP $500
O $400[ RO $1,000
BROEE $400[ZFO#f $500
BROBRR $300[#EO4F $500
ROFE $400|12E O%= $1,000
FO# $300[5TOF= $2,000
HO4F $300[FEEORK $100
PROE $300|AO=E $500
BOE $1.200)fOF = $300
FOZ $400|H O P4 $100
RO $400| RO T $1,000
RO $400| =2 OFF & $2,000
ROZE $300[#FO%H $500
O $300[HRO%E $500
MOE $300[#FOFEAL $50
PROXE $300[# OB $50
2OF $300[HO7= $200
BIO%E $300| EOAEHD $500
2OF $300|PROF $500
O $1.200[FROEF $100
BOBE $9.000|21OF* $500
AOZE $1,200|1O#% $500
OGN $1,200|121OF $500
= OB $1,200) RO $100
FROHE $100| O $200
FOHE] $100| EO= $200
O $300[# O $50
#HOT $100[#O $50
PO $2,000[Z Ok $50
HOZ $1,000|#H# O $500
Ok $100[#FOF5 $1,200
£ZOH $100[ 5O $200
BOFE $1,000| 48O $200
MHOEL $50[FBOHE $200
PO $50[ POk $1,200
TOAIED $500|BRORE $2.400
£Z0% $300[ 5= O $2.400
RO $1,000[F2 O 25k $1,200
+OZ8 $300|PROFX $1,200
BEOjw $300|F O $1,200
£20) $1,000[FEOM $100
=0 $500[FH O $600
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FOLE $100|H OF $600
EOX $200[FHO*% $300
FOR $1,000[F=O3IE $900
fHOAE $1,200|FE=OFH $900
BOT $1,200|=O =, $900
BLOECHFE) $1,200|=OHRB $900
BO#E $1,200{ = O $900
HO& $600 TOZ $900
HO $300[H OFF $900
BOZ $1,200| = O $900
ZOH $1,250|= O $900
BROEK $1,250| = OF% $900
220 $1,250|=OF $900
20% $1,250| 50O = $1,200
BOE $1,200{Z5O%R $700
FROAL $600|12£0;F $700
=OE $500({BIOZE $700
=HOE $500| 5 O%F $1,200
BOE $1,200{450% $1,200
BOE $1,200| 5O $500
BOZ $1,200(H O $600
BOZ $1,200|%5O4 $1,200
BOZ $1,200{Z0O $900
BOZ $1,200(E O£ $700
BOZ $1,200(f 202 $100
BOZ $1,200| &5 O F $1,000
BOZ $1,200[(f2O#K $1,200
BOZ $1,200{F O $500
BOZ $1,200{ = O $500
BOZ $1,200|5E OB $1,000
BOZ $1,200[5EO& $1,000
EOE $1,20058O1= $1,000
EOHk $1,200|5EO#% $1,000
O $1,200[ RO B $100
EORKEE $1,200[5EOE $1,200
=O%E $1,200|FEO &) $1,200
=OH $1,200|tR Ok $1,000
2O $1,200|EROGEI $300
FO®H $1,200| HOH $300
O $1,200|HOZ= $300
BO= $1,200[&F Ot $200
SO0 $1,200(#5055 $500
BHO $1,200[F O $200
BIOEHK $1,200|58 O $200
EOEE $1,200[FOH $100
ZOFE $1,200 TOEEE $1,000
=3Ok $1,200[E O 40 $100
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FOfE $1.200[5FO $2,000
FO% $1,200|1EO& $100
FO& $1,200[#O%E $100
FOfZ $1.200[FRO7T $100
WOZ $1,200)B8OZF $500
WOZ $1,200|F O $300
ROF $1.200(#ROF( $100
=OH $1.200) K O%% $100
SO $1,200) KO8l $100
BRORL $1,200|FOF3 $50
HOT $1.200| ROF $100
BEOIL $1,200(FHRO M $120
BRO $1,200) &= O%H $500
i OFE $1,200(%8 O $1,200
s O $1,200) 52O H #k $160
Ol $1.200FEOHE $1,200
HOR $500[150O = $600
SORENHD $10,000|PBROEEE $1,200
BOA $1,200|BEOT5 $100
EHOFE $1.200 [T O & $100
RO $1.200[fT OFER $100
PROZ $5,000{ = ORI $600
i O EER $1,015[ O] $800
BOZE) $100,000|1210%= $1,200
BROF $300[#FORd $100
BO& $100[5RO#h $1,000
BOE $300,000[EEO~F $2,000
EIEFE SR $200[FEE 18T $2,000
/et $7,965,643 /NET $7,146,169

=1 $15,111,812




